Problem 1.8.37: A lidless cardboard box is to be made with a volume of 4
m?. Find the dimensions of the box that require the least cardboard.

Solution: If the box has a width of w, a length of ¢ and a height of A, then
the volume V' is given by V' = wht. We also see from figure 1 that the amount
of cardboard it takes to make such a box is 2hw + 2h¢ + wl.

FIGURE 1

It follows that we are trying to optimize the function

(1) f(w, h,l) = 2hw + 2hl + w/
subject to the constraint
(2) wht = 4.

Noting that
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& =

wl

we now want to optimize the function

4 4 g 8
(4) g(w,?) = f(w,h,l) = f(w, o ) —2ww—|—2w—£€—|—w€— Z—i— + w/

over the first quadrant of R%2. We see that

dg 8 dg 8
(5) 8—w——m+€and 50 =—p tw 5o
9D (w, ) =0 —S54+0=0 .
(6) %“’(w’) & 1§2+ S8=wl=wlSw="/
(7) —8=w’— (w,h,0) ={(2,1,2).

To verify that g(w, ¢) does indeed attain its minimum value at (w, f) = (2,2)
we will use the second derivative test. We note that

0%qg 0 Og 0 8 16
(8) @(U}a@ = 8_w8_w(w’€) = %(—@ + ) = e
0%g 0 Jg 0. 8 16
() o\t = gigelw ) = gl W) = e and
0%g 0 Og 0 8
d°g g 0g 2
(11) D(w,€) = 5 5w, 03 5w, 0) ~ (52w, 0)
16 16 ., 256
“w B T ee
Since
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256 52g 16
12 D2,2)=——-1=3>0and —5(2,2) = 5=2>0

the second derivative test tells us that g(w, £) attains a local minimum at the
critical point (2,2).
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Problem 1.8.39: Consider the function f(z,y) = 3 + 2* + 3y*. Show that
(0,0) is a critical point for f(z,y) and show that the second derivative test is
inconclusive at (0,0). Then describe the behavior of f(x,y) at (0,0).

Solution We see that

OF (1) = 42% and 2L (2. y) = 127
(13) 9 (x,y) = 42” and o (z,y) = 12y°, so

9f =0 da3 =0
(14) 8x(x7y) L

& & (z,y) = (0,0).
F(r,y)=0 1247 =0

It follows that (0,0) is the only critical point of f in all of R?. We also note
that

O*f 0 of 0, 3 )
(15) @(:Cay) = @%@’y) = %(455 ) = 1227,
0 f 0 of 0 3 2
(16) -5§5(x,y)——2§;2i50r,y)-— 5§(12y2>——36y, and
82f 0 o0f 0 3
1 _— = — 12 —
(17) axay(x,y) 95 0y 8x( y’) =0, so
82f 82f (92f

18) D — i _ 2
(18) D(z,y) a$20mzné%ﬂ(x,y) (8xay(x,yﬂ
= 1227 - 36y% — 0% = 4322y

Since D(0,0) = 0, we see that the second derivative test is inconclusive. How-
ever, we are still able to describe the behavior of f(z,y) at (0,0). Note that
a2t > 0 for all z € R, and 3y* > 0 for all y € R. Furthermore, 2* = 0 if and
only if x = 0, and 3y* = 0 if and only if y = 0. It follows that z* + 3y* > 0
for all (z,y) € R?, and z* + 3y* = 0 if and only if (z,y) = (0,0). From this
we are able to see that f(z,y) = 3+ 2% + 3y* attains an absolute minimum at

(0,0).
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Problem 1.8.47: Find the absolute minimum and maximum value of the

function
(19) flr,y) = 20" — 4o + 3y* + 2 = 2(x — 1)* + 3y*
over the region

(20)

NREES

215

Solution: Note that the interior of R is given by

(21) R ={(z,y) eR?| (z —1)*+¢y> <1}

and the boundary of R is given by

(22) IR = {(z,y) e R’ | (z = 1)* +¢* = 1}.
We will first find all critical points in the interior of R. We note that

of _ of _
(23) %—4x—4anda—y—6y, SO
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of _ _
(24) g#x’y) Ve =0 L =0

7, (@, y) =0 6y =0

We see that (1,0) is the only critical point of f in all of R?. Since (1,0) € R,
we have to take this critical point into consideration when searching for our
absolute minimum and maximum values. Now that we have addressed the
interior of R, we will proceed to address the boundary of R. We note that OR
can be parameterized by 7(t), where

(25) m(t) = (1 + cos(t),sin(t)), 0<t <2,

so on 0R we have

(26) f(z,y) = f(7(#)) = f(1 + cos(t),sin(?))
= 2(1 + cos(t) — 1)? + 3sin®(t) = 2cos*(t) + 3sin®(t) = 2 + sin’(¢).

We may now use the (single variable) first derivative test to optimize f(7(t)) =
2+sin?(t) on the interval [0, 2], but we may also directly notice that the maxi-
mum is attained for ¢ € {Z, %X} which corresponds to (z,y) € {(1,1), (1, —1)}
and the minimum is attained for ¢t € {0, 7, 2w} which corresponds to (z,y) €
{(0,0),(2,0)}. We now evaluate f at all of the critical points that we have
found so far to determine the absolute minimum and maximum values. Noting

that

(xy) [f(xy)
(1,0)| 0
1,1)| 3
(1-1)| 3
(0,0) | 2
(2,0)] 2

so f(x,y) attains a minimum value of 0 at (1,0), and f(x, y) attains a maximum
value of 3 at any of {(1,1),(1,—1)}.
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Remark: In this problem, one may also try to address the boundary of R by
noting that (z — 1)> = 1 — ¢? on the boundary, so f(z,y) = 2 + y? on the
boundary:.
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Problem 1.9.16: Use the method of Lagrange multipliers to find the absolute
maximum and minimum of the function

(27) fz,y,2) = xyz

subject to the constraint

(28) 7+ 2+ 427 = 9.

Solution: We see that

(29) P+ 2 F 4t =9t 27 425 -9 =0,

so we may take our constraint function to be g(x,y, 2) = x* + 2y* + 42% — 9.
We see that

(30) Vf(w,y,2) = (fulw,y,2), fy(2,y,2), f-x,y,2)) = (yz, 22, 2y), and

—

(31) Vo(z,y,2) = (g:(x,y,2), 9y(2, Y, 2), 9:(x, y, 2) = (22, 4y, 82).

We now want to find all (z,y, z, \) (although we don’t really care about the
value of A) such that

(32) 9(x,y,2) =0 o T+ —9=0
Vf(z,y,z) =AVg(z,y,z) — (yz,zz,2y) = A2z, 4y, 8z)
2?4+ 2y> +422 —9=0
Yz = 2\x
(33) xz =4y
xy = 8z

By cross-multiplying the second and third equations in (33) we see that

(34) ANz = 2002 — 0 = 4Pz — 202%2 = 202(2y° — 27),

Page 8
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so by the zero product property we see that either A = 0, z = 0, or 2y* —2? = 0.
We will handle each case separately.

Case 1 (A =0): By plugging A = 0 back into (33) we see that

2?2 +2y2 +422—9=0

yz =0
(35) rxz =10
xy =0

Using the zero product property once again on the second, third, and fourth
equations of (35), we see that 2 of x,y, and z must be 0. In conjunction with
the first equation of (33) (the constraint equation) we see that (z,y, 2z, \) €
{(0,0, j:%, 0), (0, i%, 0,0), (£3,0,0,0)} are the solutions that we obtain from

this case.

Case 2 (z = 0): By plugging z = 0 back into (33) we see that

2> +2y2—9=0

0=2\z
(36) 0=4\y
xy =0

Since we are done with case 1, we may also assume that A # 0. It now follows
from the second and third equations in (36) that x = y = 0, but this contradicts
the first equation in (36), so we obtain no additional solutions in this case.

Case 3 (2y°> — 2 = 0): In this case we see that 22 = 23? so x = £+/2y.
Plugging # = v/2y back into (33) gives us

20 + 2y + 422 -9 =0

yz = 22Ny
(37) V2yz = 4y
V2y? = 8\z

By cross-multiplying the third and fourth equations in (37) we see that
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(38) 8vV2Ayz? = 4v2X\y® — 0 = 82 y2?2 — 4v20y° = 420y (227 — 4?).

Since we are no longer in case 1, we may assume that \ = 0, so either y = 0
or 222 —y?> = 0. If y = 0, then = v/2y = 0, and we reobtain the solution
(x,y,2) = (0,0, %) If 22 — y? = 0, then y* = 2z°. Plugging this back into
the first equation of (37) yields

3
(39) 1222 =0 — 2 — ig,

so we obtain the solutions

V3 V3 V3
(40) (wvyaz) < {(\/§7ﬁ77)7 (_\/37 _Ea

V3 V3 V3
) 7)7 (\/ga Ev _7)}

If = —v/2y then a similar calculation yields the additional solutions

V3 V3 V3 V3
(41) (ﬂf,y,Z) S {(_\/§7E7_>7 (\/37 _E77>7
V3 V3 VERRRVE
(ﬁa_ﬁ7_7)v<_\/§vﬁv_7)}

Now that we have found all solutions to the system of equations in (33), we see
that
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(x,y.2) f(x,y.2)
(0,0,2) 0
(0,5,0) 0
(3,0,0) 0
(0,0,—2) 0
(0,—5.0) 0
(-3,0,0) 0
V3.%,%) |
V3.4 -9 | 13
V3% | -5
(V3,- %) | 3
(V359 | 33
(V3.5 -9 | 33
(V339 | 33
(V3. -3 | -3

In conclusion, we see that the minimum value of f(z, y, z) subject to g(x, y, z) =

0 is —% and the maximum value of f(z,y, z) subject to g(z,y,2) = 01is %
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Problem 2.2.91: Let R be the region that is bounded by both branches of

y:%,theliney:x—k%j andtheliney:x—i

2
(a) Find the area of R.
(b) Evaluate

(42) / /R xydA.

Solution to (a): We first sketch a picture of the region R.

'S o« [ 11

@ & & @+

2]
o

o (22)
=] a

w1 ahel

We now solve for the intersection points of the curves y = % and y = x + % to
see that

1
(43) y = az—l—% - T+ 5 T+ 2:13
(44) Sa= =25 (@) = (<2,-3),(5,2)
T = 72 xay _ ) 2 ) 27 :
Similarly, we solve for the intersection points of the curves y = % andy =z —%

to see that

| <
S
| &1

(45)

d
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(46) r— —%, 2 (y) = (—%, _9),(2, %).

We now see that the area of R is

(47) // 1dA = // ldydx
R R
_% x+% % x+% 2 %
(48) = / / ldydz + / / 1dyda + / / 1dydz
-3 z+3 3 z+3 2 L
(49) =/ (y )daer/ (y )dx+/ (y )dw
—2 =3 — y=r—3 ! y=1—3
E 3 1 3 2 /1 3
(50) :/ r+—-—— dx+/ 3dx + —— x4+ - |dx
_9 2 -1 1\ 2
3
2

1 1 1 1 3 2

(51) (5902 + -z —In \x\) |_ + 3x ; + (111 x| — §x2 + ix) %
D 5 15

(52) :(1+2ln(2)—§)+3+(1+21n(2)—é): Z+41n(2).

Solution to (b): Using our diagram from part (a) we see that

(53) // :UydA:// rydydax
R R
—% :H—% % x+% 2
(54) = / [ xydydr + / / rydydx + [ / 3:1:ydyd3:
—2 z — T— 5 Jr—3
-3 /1 5 /1 r+3
(55) :/ (—xy2 )dx+/ (—xy2 i )dx
-9 2 1\ 2 y:x—%
)

S

DO|—
N[V
[\

T+

K= plw

y:




Sohail Farhangi Recitation Notes for 12/1/2020

of (5ot 37 = ol = 37 ) do s / 2 (52 - ol = ) o

1 1
I [2 9 1 2
(57) 25/ (:1:3—#3:1:2—%4—133——) d:c+/ 3adx
-9 T _
L2 5,09
—1—5/% (;—:L‘ + 3z —Zaz)daz

DN

V(L 5,95 “3 4|2
(58) =5zt g - n|x| Lt _%
1 1 9 2
+§(ln\xl—ix4+x3 éx2>%
D
59 =12In(2) — —
(59) () -
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Problem 2.2.92: Let R be the region inside of the ellipse f—; + % = 1 for

which we also have y < %az.

(a) Find the area of R.
(b) Evaluate

(60) / /R zydA.

Solution to (a): We first sketch a picture of the region R.

+ L &«

EREy
/

5.2
g 22 =
172
x = 3.08697453257 _
-

2
We now solve for the intersection points of the curves % +&=1landy = %x.
We see that

2
2 22 16,2

L+L =1 9
61 18 " 36 — —+-—=1
(61) y =3 18 36

9v/2 9v2 12v/2. 9vV2 12v/2

(62) %mziﬁ%(a%y):(_\/ﬁ?_\/ﬁ)?(\/ﬁ? \/T?

We now see that the area of R is

(63) / /R 104 = / /R | dyda

).
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92y 3v2  pV/36—247
%2
(64) = 9\1;/ 1dyd:1:+/ / ldydzx
-9 J-V35-222 V36222
N4 32\ \/36-222
(65) = / Y dx / Y dx
_9V2 7 ly=—+/36—2x2 9v2 y=—/36—222
V1T V1T
9v2
Ve (4 B2
(66) = [V (—x +/36 — 23:2) dx + / 21/36 — 22%dx
_9v2 \ 3 9v2
V1T V1T

Since

1 1
(67) /\/1—x2:§x 1 — 2?4 —sin”

5 Sin Y(x), (substitute = sin(f))

we see that

(68) /\/mozx—/6\/1— = 18v/24/1 — 42dy

(69) = 9v2yy/1 — 32+ 9v2sin H(y) = —az\/ 36 — 222 + 9v/2sin~!

595"
[t follows that
9v2
D2/ 3v2
(70) = /Jﬁ (—:1: + /36 — 2:1:2) dx +/ 21/ 36 — 2x%dx
_9v2 \ 3 9v2
V1T V17
2 9 1 1, X 3/11%
(71) = (gx + 533\/ 36 — 222 + 9v/2sin" (—3\/5)) s
Nit;
> . V2
+ (236 — 222 + 18v/2sin (3\—/5) 0y3

V17
Page 16



Sohail Farhangi Recitation Notes for 12/1/2020

(72) 2 @x\/m +9v2 sinl(i))

3v2 ) 192
3v2 3v2
+ /36 — 22|, -+ 18V2sin N (= =) -
X 3V2 I

(73) V36 — 22|,

+18fs1n —
3 2

v+ V36— 23}2|
12

22
—oV/36 =222, o+ 18V2sin T ()| - 18v2sin T (-
iy T % 2sin” (\/,) " 2sin” (3\/5)

74 — /36— 2 2‘ 18 2'—1i)
(74) T $3\/§—|— V/2sin (3\/5)

(75) — 0+ 18V2sin (1) = |9v2r|

3v2

Remark: For the ellipse % + % = 1 we see that the major radius is 6 and

the minor radius is 3\/5, so the area of the ellipse is 6 - 3V2 -1 = 18v2r. We
now see that our region R has half the area of the ellipse containing it. In fact,
we can prove this directly with symmetry and no calculus at alll We just have
to remember that when we reflect the point (x,y) across the origin we get the
point (—z, —y), and that reflection across the origin (or reflection across any
other point) preserves area.

Solution to (b): Using our diagram from part (a) we see that

(76) / /R rydA = / / vydyda

w2 4y 3v2  V/36-222
(77) v xydydx + rydydzx
_ 92
N2 J—/36-27 V36222
e ANEE W21\ V622
(78) = —xy dr + —xy ‘ dx
_E\%g 2 y=—+/36—212 % 2 y=—+/36—212

Page 17
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9v3

[V (16, A
(80) = | s (Eac — 18z + ) dz =10]
Vit

Remark: We see that both integrals appearing in equation (77) are 0. It turns
out that this can also be shown directly with symmetry instead of evaluating
the integrals! Firstly, we recall that (z,y) turns into (—z, —y) when reflected
across the origin and that reflection across the origin preserves area. We also
note that xy = (—x)(—y), so we can rewrite our double integral as a double
integral that takes place over the right (or left) half of the ellipse instead of the
region R. We then notice that z(—y) = —(zy), so the integrals over the top
right and lower right quarters of the ellipse cancel each other out to yield 0!
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Problem 2.2.97: Find the volume of the solid bounded by the planes x =
0,z=5,z=y—1,2=-2y—1,2=0, and z = 2.

Solution: Let us first examine our solid from a few different angles.

B & < e
(@) eql: x =0
. eq2:x =5
O fiz=0
O giz=2
. h:z=y—-1
@) prz=-2y-1 .
+ Input...
=
B & < o)
. eql: x =0
. eq2:x =5
QO f:z=o0
O giz=2
. h:rz=y-1
o piz=-2y-1
+  Input...
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h:z=y-1

p:z=-2y-1

+ ©@® 00 0 @
i

Input...

+ @@ OO0 @ @
i

i

Due to the third and fourth pictures, we will choose to view the ’base’ of our
solid in the xz-plane so that it is simply the rectangle R = {(z,2) € R* | 0 <
r <5 0<z<2} We then see that the 'heights” of our solid are along the
y-axis. Solving for ¢ in terms of x and z we see that y = 24+ 1 and y = —%1
are the surfaces bounding the 'heights’ of our solid. By examining the values
of y for some (x,2) € R (such as (0,0)), we see that y = z + 1 is the upper
bound for our heights and y = %1 is the lower bound for our heights. We now
see that the volume V' of our solid is given by

(81) V=//R(yt0p—ybottom)dz4=//R <Z+1_(_z42—1>) dA
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5
de = / 6dz = |30.
0

5 2 1 5 9
(82) = / / 32 de — / <§z2+§z)

=
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Problem 2.3.67: The limagon r = b+ acos(#) has an inner loop if b < a
and no inner loop if b > a.

YA YA
r=2+4+cosd

A r=1+4+2c¢cosf

=Y

FIGURE 2. From page 139 of the course textbook.

(a) Find the area of the region bounded by the limagon r = 2 + cos(6).
(b) Find the area of the region outside the inner loop and inside the outer loop
of the limagon r = 14 2 cos(6).

(c) Find the area of the region inside the inner loop of the limagon r =
1 4 2cos(h).

Solution to (a): Letting R denote the interior of the limagon r = 24 cos(f),
we see that

2m  p24-cos(6)
(83) Area(R) :// 1dA=// rdrdﬁz/ / rdrdf
R R o Jo
2m
L,

(85) = /02W<2+2COS(@>—|—%COS2<9>)d9 = /02ﬂ(2+2008(9)+icos(2€)+i)d«9

Page 22
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(6) 20+ 25in(0) + Lsin(20))| " =2
4 SI1I1 881ﬂ 0 = 27T

Solution to (c): Let R denote the region inside of the inner loop of the
limagon r = 1 + 2cos(f). We see that the inner loop of the limagon begins

and ends when r = 0, which occurs when cos(f) = —5, which occurs when
0= 2; : 4; It follows that

142 cos(¢
(87) Area(R // 1dA = // rdrdﬁ—ﬁ / Td?“d@
1
(88) _ /2 o
3

47 47
5

(89) = A?(% +2cos(6) +2cos*(6))dd = / (% + 2 cos(f) 4 cos(20) + 1)do

T 27

3

1—|—2 cos

1 2
- d9 /277 2(1 + 2 cos(d))“db

1 4r
(90) = (29 + 2sin(f0) + 5 sin(26)) ;; =

3

3
7T_§\/§

Solution to (b): Letting R’ denote the region inside of the outer loop and
outside of the inner loop of the limagon r = 1 + 2 cos(f), we see that

21 p142cos(d
(91) Area(R') + 2Area(R / / rdrd@

— 3.

(92) _ (29 +25in(0) + - Lsin(20))|” O

Using our answer from part (c), we see that

(93)  Area(R') = 37 — 2Area(R) = 37 — 2(7 — gx/g) — |7+ 3V3|
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Problem 2.4.24: Find the volume of the solid S in the first octant that is
bounded by the cone z =1 — y/x? + y? and the plane x +y + z = 1.

Z I
5
_—
| v
""-—-—-_,._._,_‘__P_
| ._._______'__1

+ L &
a/ 1- :(\ +12)3 TT T T T 1T I
a l—z=x+3 N
E) =02 osb— NN
1 0 0 I 1 1 2
o5 | S @@ @@ N @ @ @@ |
(E) a 1

FIGURE 4. The cross section of S at a particular height z.

Solution: We see that

(04)  Volume(S / / / 14V — / / - /1 ¥ | ddyds
(95) // VIR s
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(96) _ / 1 / (VTR - (- 2 )) dyd

We see that evaluating (the difficult part of) the inner integral in (96) is tanta-
mount to evaluating

(97) / V1 —y2dy,

which is certainly possible, but it is difficult and computationally intensive,
so we will evaluate the volume by an alternative method. If we more closely
examine the integrals in (94), then we see that

1—z  pa/(1—2)2—y2
(98) / / ldzdy
0 1—z—y

calculates the area of the cross section C, shown in figure 4. Using elementary
Euclidena geometry, we see that

1—z  pa/(1—2)2—y2
(99) / / ldzdy = Area(C.)
0 1—z—y

1 1 — 2
217'('(1—2)2—5(1—2)2:71-

4

(1—2)%

It follows that

1 pl—z pra/(1—2)2—y2 1 T —9
(100) / / / ldxdydz = / (1 — 2)%dz
0 0 1—z—y 0 4

_9 1 —9
S (1—2)% = T
12 0 12
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Problem 2.4.50: Evaluate

4 4z 2 ey
(101) / / / Mdydxdz.
1 z 0 x2

Hint: Try a different order of integration.

Solution: We see that trying to evaluate the inner integral in the current
order of integration is tantamount to evaluating

(102) / c1 sin(co/y)dy,

which is very difficult, so we decide to change the order of integration in hopes
that the inner integral becomes easier to evaluate. We see that integrating with
respect to z in the inner integral is not any easier since z and y are symmetric
in the integrand, so we decide to integrate with respect to x in the inner integral
in our new order of integration. Since z and y are symmetric in the integrand,
the difficulty of the integrations doesn’t seem to change if we use dxdydz or
dxdzdy, so we will use the order dxdydz in order to reduce our workload by
only changing the order of dr and dy instead of changing the order of dx, dy,
and dz. We see that the bounds that we have in (101) tell us that

1 < 2z < 4 1 < 2z < 4
(103) z <z <4z - 0<y <7,
0§y§7r2 z < xz < 4z

Thankfully, we didn’t have to do any work to interchange the order of dx and
dy since the bounds for ¢ in the first order of integration were independent of
x. We now see that

4 pdz et (s 4 pr? o pdz
(104) // / Mdydajdz—// / sin(\/yz)x_%dxdydz
1 z 0 x?2 1 0 z
4 2

J

4z
dydz

(105)

X

/0 C sin(y/yz)z 2
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(106) / / —2sin(y/yz)(4z)” 34 ZSin(\/ﬁ)z_%> dydz

107
sin(4/yz sin(,/yz sin
// ( . s (% )dydz_// N S

We see that evaluating the inner integral at the end of (107) is again tanta-
mount to evaluating the integral in (102), so we decide to change the order of
integration once again. Note that this is equivalent to having decided to use
the order daxdzdy from the beginning, but we were not able to see that dxdzdy
was the best order of integration until now. Nonetheless, our initial change in
the order of integration did allow us to make progress despite not being the
best possible order of integration.

sin(\/yz sin(\/yz
(108) // - dydz-/ / - dzdy
23 23

Recalling that y does not change when evaluating the inner integral with respect
to z, we treat y as a constant (relative to z) to perform the u-substituion

(109) w = \/yz, du = \[d .d \/@d

We now see that

2
(110) / /sm 1yz dzdy—/ / sin(u dudy
3

4 B —2008(\/372)
SN 1dy‘/o i

(111) _ m —2 cos(u)

z=1

R
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(113) v /WO (—4 cos(2u) + 4 cos(u)) du = (—2sin(2u) + 4sin(u)) ::0

™

(114) = (—2sin(24/y) + 4sin(y/y)) = 0],

Y
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Problem 2.5.49: Find the volume of the solid region S outside the cone
¢ = 7 and inside the sphere p = 4 cos(¢p).

2 ¥
2 _,f‘i'
-‘-‘-""‘*-.
e g
X \\\“Hﬁh

FIGURE 5. From page 167 of the textbook.

First Solution: We will proceed by using spherical coordinates. Due to the
symmetry of our solid with respect to # we begin by taking a cross section with
the xz-plane. Since we are working in spherical coordinates, the cross section
will be in coordinates similar to polar coordinates. Remember that the angle
@ is measured from the z-axis and satisfies 0 < ¢ < 7, not 0 < < 2. Also
remember that this cross section is showing you the portions of the solid from
0 =0and 0 =m.

+ L # « F
@ Z=X +
N -
U z X &
(z—2)2+x2=4
6
)
A

FIGURE 6. The xz-plane cross section in spherical coordinates.
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We now see that for any 6 € [0, 27) we have that T < ¢ < 7. Recalling that
the blue circle is defined by p = 4 cos(ip), we see that once ¢ is also chosen we
have that 0 < p < 4cos(p). We now see that the volume of the solid is given

by

2m 4 cos(p
(115) Volume(S /// 1dV = / / / p? sin(p)dpdpdd

(116) /%/% 1 dopd = / Fod 3(0) sin(ep)dp dO
SIH = — COS S111
0 SO 0 % 3 J/T@
2 2m T
64 ("1 ,|3
(117) / / 3dud9——— “ut|” de
3 4 =7
64 [*1 5 64 1 64 —1 |8
(118) = —— = cos'() ) = —— ——dQ S P il
3 ), 4 x 3 ), 16 3 16 |3

Second Solution: We will proceed by using cylindrical coordinates. Due
to the symmetry of our solid with respect to 8 we begin by taking a cross
section with the xz-plane. Since we are working in spherical coordinates, the
cross section will be in coordinates similar to Cartesian coordinates with (r, z)
taking the place of (x, ). Remember that this cross section is also showing you
the portions of the solid from 6 = 0 and 6 = 7.

+

L8 & K

2

Z=71

] I‘+ A

& 0 isnot 0 in this region.

a (z-2)?+r%=4

FIGURE 7. The xz-plane cross section in cylindrical coordinates.
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We now see that for any 0 < 6 < 27 we have that 0 < z < 2. Noting that we
have 7 = /4 — (2 — 2)2 = V42 — 22 on the blue circle, we see that once 2 is

chosen we have z < r < v/4z — z2. We now see that the volume of the solid is
given by

2 2 pVAz—22
(119) Volume(S) = /// 1dV :/ / / rdrdzd
S 0 0 Jz

2m 2 1 VAaz—22 2m 2
(120) :/ / —p? dzdf :/ / (22 — 2%)dzdb
o Jo 2 I 0o Jo

(121) / (22— —z3)( d6 :/ i = T
0 3 0

0 3 3
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Problem 2.5.50: Find the volume of the solid region .S that is bounded by

the cylinders r = 1 and r = 2, and the cones ¢ = & and p = 3.

]

F1GURE 8. From page 167 of the textbook.

First Solution: We will proceed by using spherical coordinates. Due to the
symmetry of our solid with respect to 6 we begin by taking a cross section with
the xz-plane. Since we are working in spherical coordinates, the cross section
will be in coordinates similar to polar coordinates. This time we will focus
on the right of the z-axis (y-axis) in order to only see the part of the solid
corresponding to 8 = 0.

+ - & « o
@
1
N
B x =1 (fromr=1)
c/ ¥ =2 (fromr=2)
a/ Z= % Makes an angle of 60 degrees
3 with the z-axis.
» 5 Makes an angle of 30
Y z= 3 degrees with the z-axis.
///A
//f
/// L
-~ . X-axis
a P '
o

FIGURE 9. The xz-plane cross section in spherical coordinates.
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We see that for any 0 < 6 < 2 we have & < ¢ < Z. Noting that r = psin(yp),
we see that when r = 1 we have p = csc(gp) and When r = 2 we have p =
2 csc(yp). It follows that once ¢ is also chosen we have cse(p) < p < 2cesc(y).
We now see that the volume of the solid is given by

2m 2csc(yp
(122) Volume(S /// 1dV = / / / ?sin(p)dpdpdd

2r % 1 2 cse(y) 2r 3
(123) :/ / §p3 sin(y) ’ )d@d@ :/ / §CSCQ(90)d90d9
0o Jr 0

p=csc(p ,
2m 7
(124) = / ——cot(yp)
0 3

[

2w
dO:/ g2
0 3V3 3v/3

Second Solution: We will proceed by using cylindrical coordinates. Due
to the symmetry of our solid with respect to 8 we begin by taking a cross
section with the xz-plane. Since we are working in spherical coordinates, the
cross section will be in coordinates similar to Cartesian coordinates with (7, z)
taking the place of (x,y). This time we will focus on the right of the z-axis
(y-axis) in order to only see the part of the solid corresponding to 6 = 0.

‘s B

Z-axis

r-axis

A g T 3

F1GURE 10. The xz-plane cross section in cylindrical coordinates.
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We note that for any 0 < 0 < 27 we have 1 < r < 2. Once r is also chosen,

we see that %r < z < rv/3. We now see that the volume of the solid is given

by

2T 2 r\/g
(125) Volume(.S) :/// ldV:/ / / rdzdrdf
S 0 1 JLly
V3
2T 2 2 2
(126) / /rz drd@—/ /—7“2d7"d9—/ =3
0 3V3

2m 14 287
(127) :/0 NG ENG

2

do
1
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Review Problem 1.92: What point on the plane x + y + 42 = 8 is closest
to the origin? Give an argument showing that you have found an absolute
minimum of the distance function.

Solution: Note that for any (x,y, z) on the plane z + y + 4z = 8 we have

(128) ot
2=2—-x—-
4 4y7

from which we see that

(129) d((z,y,2),(0,0,0)) = V/(z = 02+ (y — 0)* + (2 — 0)?

17 17

1 1 1
130) =4/ 412+ (2 -z — - 2—\/4_ g4 2 17 o
(130) \/:1: + 92+ ( 12 4y) x y+8xy+16:c +16y

We recall that if f(z,y) is any nonnegative function, then f(z,y) and f*(z,y)
have their (local and global) minimums and maximums occur at the same values
of (z,y). It follows that we want to optimize the function

1 17 17
131 —4—g—y+- — 1t + —yt

Since any global minimum of f(x,y) is also a local minimum, we see that the
global minimum of f (if it exists) is at a critical point. We now begin finding
the critical points of f. We see that

0=f,(z,y) =Y +iy—1 17 1 17 1
(132) 0= e y) TR 0 (Lot y— 1) — (my 4 <z — 1)
0=fy(z,y)=Fy+5z—1 58 578

4
(133) :2x—2y—>$:y—>:v:y:§.

We see that (3, 3) is the only critical point. We will now use the second deriv-

ative test to verify that (5, 3) is a local minimum. We see that
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fm(a:,y):%
(134) Sz, y) :1@7 = D(z,y) = fuu(®,y) fyy(z,y) — fxy(x,y)Q
f:vy(xay): %
17 17 1 9 4 4 9
(135) :g‘g—(§)2:§—>D(§a§):—>0

Since we also see that fm(%, %) = % > 0, the second derivative test tells us that
4 4

(5, 5) is indeed a local minimum of f(x,y). It remains to show that f(z,y)

attains its global minimum at (3, 3). Firstly, we note that f(3,3) = #. Since

% < 5 (I picked 5 randomly, I just needed some larger number), let us consider

1 1
the region R of (z,y) for which (z,y,2 — i Zy) has a distance of at most

"~

A\

z

5 from the origin. This is the same as R = {(z,y) | f(z,y) < 5}.

g & < e
@) eql: x+y+2z =38
Q@ ax?+yr+ 22 =25

+ Input...
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= - B « /\
' W2+ +(2——1—é}')?i 25 4
© (1) 2
.
2 0 . ¢ i
(E] a

Since R is a closed and bounded region, and f(x,y) is a continuous function
function, we know that g attains an absolute minimum on R. The point (%, %)
is inside of R, so the minimum of g is not attained on the boundary of R (as
that is where the distance to the origin is exactly 5). Since the minimum of g
on R is attained on the interior, we see that it must be obtained at a critical
point of f(z,y), so it is attained at (%, %). For any point (z,y) outside of R,

we have f(z,y) > 5 (by the very definition of R), so the global minimum of

flz,y) is % and is attained at (3, 3). It follows that the point on the plane
4 4 16>

9°9" 97

x + y + 2z = 8 that is closest to the origin is |(
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Review Problem 1.98: Use Lagrange multipliers to find the dimensions of
the right circular cylinder of minimum surface area (including the circular ends)

with a volume of 327 in®.
N
N

Solution: We recall that a cylinder of radius r and height h has a volume of
V' = 7r?h and a surface area (including the 2 circular ends) of S = 27r*+27rh.
It follows that we want to optimize the function f(r, h) = 2wr*+ 2nrh subject
to the constraint 0 = g(r, h) = 7r*h — 327. Since

(136) Vf(r,h) = (4nr 4 2rh, 2mr) and Vg(r, h) = (2mrh, 7r?), we obtain

Adrr +2mh = 27w Arh 2r+h = A\rh 2r+h = 2h

(137) o = a2 B2 = 5 2 =N
mr*h = 327 r’h = 32 r’h = 32

2r = h 2r h
(138)  — 2 =X = 2 =X =-r=vV16=2vV2— h=4V2.
r’h = 32 23 32

Since the cylinder does not have a maximum surface area when subjected to
the constraint V' = 327, we see that the critical point that we found has to
correspond to a local minimum. The extreme/boundary cases occur when either
r — 0o or h — 00, in which case we also have S — oco. It follows that f(r, h)

attains a minimum value of 247+/4 when (r, h) = | (2v/2,4v/2) |
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Review Problem 2.26: Rewrite the the triple integral

(139) /0 : /0 " /0 " ey, 2)dydzda

using the order dzdzdy.

First Solution: We envision the 3-dimensional solid that is described by
the bounds of the triple integral in the currect order of dydzdx, and then we
traverse the solid using the new order of dzdxdy.

B & < e
O fz=0-% :
O gry=x
O h:z=20
O piy=o0
Q@ eqlix=2
+ Input... R
&
B & y -
O #z=9-x
O g:ry=x
O h:z=20
O piy=o0
@] eql:x =2
+  Input..
m
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+ Input...

140 [ /j /O“Z@,y,z)dzdmy.

Second Solution: In order to avoid drawing and thinking about 3-dimensional
regions, we will perform 2 separate changes of order. We will first change the
order from dydzdzx to dzdydx, and then we will change the order from dzdydz
to dzdxdy.

o
IA
-
N

o

IA

N

[

©
|

Hex o @
-
o
L
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2 9—z2 x 2 x 9—z2
(141) / / / flz,y, 2)dydzdx = / / / f(z,y, z)dzdydx
0 Jo 0 0o Jo Jo

2

2 99—z
/ f(x,y, z)dzdxdy|.
0

(142) /0 2 /0 ) /0 o oy, 2)dzdydz — /O 2

S~
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Review Problem 2.34: Find the volume of the solid S that is bounded by
the parabolic cylinders z = y? + 1 and z = 2 — 22

Solution: S is a 3 dimensional solid that is defined as the region inbetween
2 surfaces. First, we ﬁnd the intersection Tof z=9y?’+1and z = 2 — 2% to
satisfy y? + 1 =2 — 22 or 22 +y* = 1.

B & < P
® a:lty? =2
— v+ 022-z=-1

. b:z=2—x

— 2+ 022 +z=2
O eql:x* +y? =1

+ Input...
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g & < )
. 3:1—!—y2=z
— 24+ 0z22-z=-1

. b:iz=2-x2
— x4+ 022 4+z=2

@ eql: x? +y2 =1

+ Input...

B &

. a:1+y2=z
— 4+ 0z22-z=-1

. b:iz=2-x

— x>+ 022 +z=2
@ eql: 2 +y2 =1

+ Input...

It follows that the (z,y)-coordinates of I are the circle of radius 1 centered
at the origin. Note that the intersection I is not itself a circle since the z-
coordinate is not constant on the intersection. NThankfully, for the purposes of
calculating the volume of S, we only need to know the projection R of I onto
the zy-plane (along with the interior of the projection), which is the same as
knowing the the (x,y)-coordinates of I.

(143) Volume(S) = / / (Ztop — Zbottom )dA
R

(144) = /0 7T/0 ((2 = (rcos(6))?) — ((rsin(F))* + 1)) rdrdd
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(145) = /0 7T/O (1 —r?cos®(#) — r*sin*(6)) rdrdd

46 = /O 1 /0 " (v = ) dodr /O " (v — )

1
1 1 1
(147) /27r(r—r3)dr27r<—r2——r4>‘ —|Z
; 2" T4 ) T2

Remark: We could have also calculated the volume by using a triple integral
in cylindrical coordinates as follows.

2m 2—1r2 cos?
(148)  Volume(S /// 1dV = / / / rdzdrd@ = [7].

21

0=0
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Problem 3.2.31: Use a scalar line integral to find the length of the curve

(149) Ft) = <2Os1n(4) ZOcos(fl) ;>, for 0 <t <2

Solution: Firstly, we note that

t t.o 1
(150) 7'(t) = (5 COS(E)’ -5 sin(z), 5}
We now see that

(151)
2, 2 t ot
Arclength(C) = [ 1ds= [ |7'(t)|dt = [ |{(5cos(=), =5sin(=), =)|dt
c 0 0 4 472

(152) —/02\/ 5cos() 2+( 581n(i))2+<1>2dt
(153) / \/250082 + 25 sin( dt / \/; dt
(154) — \/%t‘z — 2\/%— V101,
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Problem 3.2.46: Find the work required to move an object along the line
segment from (1,1, 1) to (8, 4,2) through the forcefield F' given by

(.9, 2)
22 +y?+ 22

(155) F=

Solution 1: Firstly, we recall that one method of parameterizing the line
segment that starts at p and ends at ¢ is to use the parameterization

(156) rt)=(1—-tp+td=p+td-p), 0<t<L
It follows that

(157)
Fit) = (1,1, 1) + ¢ ((8,4,2) — (1,1,1)) = (1 +Tt,1+3t,1+¢t), 0<t<1,

is a parameterization of the line segment from (1,1, 1) to (8,4,2). We now see
that

1
(158) Work = / F . di = / F(7(t)) - 7' (t)dt
C 0
(159 B /1 (1+ 76,1+ 3t,1+1) 3 )t
0 \(1+7t)2+(1+3t)2+(1+t)2/ﬁc—/
F(#(t))
(160 _/1 (T+7t)-T+(1+3t)-3+(1+¢)-1
Sy 1414t 4982+ 146t + 92 + 14+ 2t + 12

11 + 59¢ t+ 55 L+ 5
(161) :/ 2clth/ RN 3dt:/ Ty 4 504t
0 S+ 22t + 591 0o ¥+ 55t + 5 0 (t‘i‘@) + 3181

1 1 56\ 1 [1
162 _ 22 )——12 |
(162) QD((t+59)+ ) In(2s)

3481 /) lo
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Solution 2: We note that for ¢ = %ln(x2 + y? + 2%) we have Vi = ]3, SO
the Fundamental Theorem for Line Integrals (section 3.3) allows us to simplify
the calculations from equations (158)-(162) as follows.

(163) Work—/Cﬁ-df—/CVgo-dF—gp((S,él,Q))—90((1,1,1))

1 1 1 1 1
(164) = 51n(82+42+22)—§1n(12+12+12) = 5 In(84) =5 In(3) =| 5 n(28)|
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Problem (not from the book): Determine whether the vector field F
given by

= 1
(165) F={y—e"V ox—e"+1,-)
z

is a conservative vector field. If F' is conservative, then find a potential function
©.

Solution: Letting

1
(166) m(z,y,2)=y—€e""Y, n(r,y,2)=x—e""V+1, plx,yz2)=—,
z
we see that
(167) F={m,n,p), and
om on  On op Om op
(168) Oy c ox’ 0z oy’ 0z ox’

so F' is a conservative vector field, so we will now find the potential function ©.
We recall that

—

(169) (m,n,p) =F =V = (0, 0y,0).
We will now handle the 3 scalar differential equations that arise from (169) in

order to find ¢ (but only up to a constant).

(170) 901<x7y7 Z) — m(x,y, Z) - y_€$+y — Sp(xaya Z) - xy_€$+y+h<y7 Z)

(171) x — "V +1=n(x,y,2) = py(r,y,2) =2 — "V + hy(y, 2)
= hy(y,2) =1 = hly,2) =y +9(2) = p(x,y,2) =3y — """ +y + g(2).
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(172) — = =g:(2) = g'(2) = g(2) =In|z[ + C

IS

—lo(z,y,2) =2y — "V +y+Inl|z| + C|
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Problem (not from the book): Evaluate

(173) / (Vo +6+In(In(n(e +4+2)) — 1,1 + 2+ - dF,
C

where C'is the curve that is shown in the picture below.

+ s 2 o

z (t4—1¢)
o =tz 2 Line Segment

?,/ (Q + cos(r}_? sin(r}}

-3 =t= % Partial Elllpse - ! 1 1 1 1 ! 1 ! 1 1 1 1 S ! 1 h__\\. 1
?./ (2 cos(z) 2 sin(r}—i‘} /—\ . .\I\."-,

= <t< m  Semicircle

c (—Q—cos(r}_isin(r}} ) 4 2 0 2 [ 4
-7 =t= = Partial Ellipse

(—3 -1, ri) )
=t< 2 Parabolic Arc . | > r

D ()

2

FIGURE 11

Solution: Letting

(174) m(z,y, 2) = Vo + 6+ In(In(In(e” +4+z))) — 1, and

(175) n(z,y,z) =1y +2+ eV, we see that
(176) F = (m,n), satisfies
om on
I Z ==
(77) 0y ox

so F'is a conservative vector field. We also see that
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(178) /(\4/x+6+1n(1n(1n(e€e—|—4—|—a:')))—1,y3+2+ey2>-dF:/ﬁ-dﬁ
C C

Since F is conservative and C' is a (simple piecewise smooth oriented) closed
curve, we see that

(179) /Oﬁ-df:@.

Challenge for the brave: Letting C once again denote the curve in figure
11, evaluate

(180) /C (. 0) - dF
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Problem 4.2.51: Three people play a game in which there are always 2
winners and 1 loser. They have the understanding that the loser always gives
each winner an amount equal to what the winner already has. After 3 games,
each has lost once and each has $24. With how much money did each begin?

Solution: Let us assume that player 1 begins with $x, player 2 begins with $y,
and player 3 begins with $z. We may further assume without loss of generality
that player 1 loses round 1, player 2 loses round 2, and player 3 loses round 3.
We then obtain the following table.

Player 1| Player 2 | Player 3

Money at the Start X y Z

Money at the end of round 1| x-y-z 2y 27

Money at the end of round 2 | 2x-2y-2z | -x+3y-z 47

Money at the end of round 3 | 4x-4y-4z | -2x4-6y-27 | -X-y+77

We now obtain and solve the following system of equations.

(181)

Ay — dy — 4z = 24 4 —4 —4|24
95 + 6y — 22 =24 = |-2 6 —2|2
—r — Yy + 7z =24 —1 -1 7 |24
moaas [0 -8 24 [120] [-1 -1 7 | 2
ST l0 08 —16 =24 BB 0 8 —16 —24
1 -1 7 | 24 0 —8 24 | 120
e el PP LI 71 [ el PSR 7
0 8 —16|—24| 52 08 —16|—24| 5 |0 1 —2| =3
0 —8 24 | 120 00 8 | 96 00 1] 12
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(184)

(185)

1 0 —=5|-=21

01 —2| =3

00 1112
— (r,y,2) =

R; +5R;3
Rs + 2R3

1 00]39
— 01 0]21
00 112

=1(39,21,12)|
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For the following problems, determine all possiblities for the solution set (from
among infinitely many solutions, a unique solution, or no solution) of the system
of linear equations described. After determining the possibilities for the solution
set create concrete examples of systems corresponding to each possibility.

Problem 4.3.8: A homogeneous system of 4 equations in 5 unknowns.
Problem 4.3.10: A system of 4 equations in 3 unknowns.

Problem 4.3.14: A system of 3 equations in 4 unknowns that has 1 = —1,
xo =0, 3 =2, x4 = —3 as a solution.

Problem 4.3.16: A homogeneous system of 3 equations in 3 unknowns.

Problem 4.3.18: A homogeneous system of 3 equations in 3 unknowns that
has solution 1 =1, 9 = 3, 3 = —1.

4.3.Bonus: A system of 2 equations in 3 unknowns.

You are free to make use of the following facts.

(1) Any homogeneous system of equations is consistent.

— This is seen by the fact that the trivial solution (the solution in which all
variables are equal to 0) is always a solution to a homogeneous system
of equations.

(2) If a consistent system of equations (a system of equations with at least 1
solution) has more than 1 solution, then it has infinitely many solutions.

(3) If a consistent system of equations has more variables than equations, then
it has infinitely many solutions.
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Solution to 4.3.8: By facts (1) and (3) we see that there are infinitely many
solutions.

I =
X9

(186) .

has infinitely many solutions.

I
oo oo

Ty + T5 =

Solution to 4.3.10: Anything is possible. The system could be inconsistent,
it could have a unique solution, or it could have infinitely many solutions.

I =0
(187) = . - 8 has no solutions.
g =
2563 = 2
I =0
i) 0 . .
(188) e — 0 has a unique solution.
g =
2.5133 =0
Tr1 + X9 =0
(189) 2+ 2 . - 8 has infinitely many solutions.
g =
2.%'3 = 0

Solution to 4.3.14: By facts (1) and (3) we see that there are infinitely
many solutions.

I — X4 = 2
(190) T2 0 has infinitely many solutions.
—4

T3 + 224

Solution to 4.3.16: The system has to be consistent since it is homogeneous.
The system could have a unique solution, or it could have infinitely many

solutions.
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I =0
(191) T9 = 0 has a unique solution.
r3 — 0
I =0
(192) ro + x3 = 0 has infinitely many solutions.

209 + 2x3 = 0

Solution to 4.3.18: The system is consistent by fact (1). Since we are given
a solution other than the trivial solution, fact (2) tells us that there are infinitely
many solutions.

r1 + x93 + 43 = 0
(193) 2 + 3x3 = 0 has infinitely many solutions.
T + X3 = 0

Solution to 4.3.Bonus: It is possible that the system is inconsistent and
has no solutions. By fact 1, the only possible alternative is an infinite number
of solutions.

r1 + 29 + 43 = 0

21+ Ty + Aas 1 has no solutions.

(194)

r1 + 9 + 423 = 0

(195) Ty + 3£E3 0

has infinitely many solutions.
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Modified Problem 4.3.23: For what value(s) of a does the following system
have nontrivial solutions?

r1 + 229 + x3 = 0
(196) —x1 + ary + x3 = 0.
3r1 + 4x9 — 23 = 0

Solution: Let us first represent the system of equations as an augmented
matrix that we will reduce into echelon form.

1 2 1]0] B+m [1 2 110

Rs — 3R,
(197) —1a 10| " 0a+2 210
3 4 —1/0 0 —2 —4/0

In order to continue the row reduction, we would like to use the row operation
Rs + CL%QRQ, but this is only valid if @ + 2 # 0, which occurs if and only if
a = —2. So let us assume that a # —2 for now and we will handle a = —2 as
a separate case.

> 1o
R3+-25R
(198) TErE ) ar2 20 0
4
0 0 4 —40

If aiﬂ — 4 # 0, then equation (196) will only have the trivial solution. Since we
are searching for the value(s) of a that result in nontrivial solutions to equation

(196), we solve % — 4 = 0 and see that |a = —1| The only other possible

value of @ is @ = —2 which we will now consider as a separate case. Plugging
a = —2 back into (197) we obtain

2o, [t 2 o] i 2o
(199) 00 20 ™% |0 -2 —4/0] 5 |01 2]0
0 -2 —40 00 20 0010

Since the system represented in equation (199) only has the trivial solution, we
see that —2 is not one of the desired values of a. In conclusion, the only value
of a that results in nontrivial solutions for equation (196) is |a = —1|
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Problem 2.45: Find the volume of the solid cylinder £/ whose height is 4
and whose base is the disk {(r,0) : 0 < r < 2cos(d)}.

Al

Solution: We first look at the cross section of E in the xy—plane to help us
determine our bounds.

h 2 2 e -
x—1)"+y =1 ’
& (‘f } 3 // \\\\
o (1.0} // \\\
¥ Label F "/
0.5 /
!_f
I|
i |
05 1 15 T
05
\ <
I A N ———
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4 r5 2 cos(f)
(200) Volume(E):/// ldV:/ / / rdrdfdz
-3
QCOS
(201) / / d@dz-/ / 2 cos?(0)dOdz
52 2

(202) / / (cos(26) + 1)dodz = /O (QSm(ze)w)

4
(203) = / ndz = 4],
0

dz

2
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Problem 2.48: Find the volume of the solid cardiod of revolution D =
{(p;,0):0 < p < 3(1—cos()),0< p <, 0<0 < 2m}.

Solution: In this problem, the description of the region is just a reordering
of the description that we need to write down our triple integral in spherical
coordinates to find the volume. We see that

0t) Voune(D) = [f[ 1av - /2” [ /%1 D e ino)dpdiods

2 1 cos(¢))
(205) / / 3sin(yp dipdb
2 pmw 1 1 2 1 v
(206) = / / -1 =(1— cos(cp)) sin()dp df = / —ut| df
o Jo 3 2 B o 06 le=0

(207)

/é( 1—008(90))>4Z —/O%éde—

C»J|>1
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Problem 3.26: Consider the vector field F = (x, —y) and the curve C' which
is the square with vertices (41, +1) with the counterclockwise orientation.

i't (1) " = < | <
N {_-:' J{ : dl /\
Y (1
i ¢3 -

(e—1)

/\
N/
> o

FIGURE 12. The curve C.

a) Evaluate [, F - d7 by finding a parameterization 7(t) for the curve C.
b) By using the Fundamental Theorem for Line Integrals.

Solution to a: Letting C', Cy, (3, and C4 be as in Figure 12, we see that

(208) /ﬁ-dfz/ﬁ-df+/ ﬁ-dﬂ/ ﬁ-dﬂ/ F-dr.
C 01 02 03 C(4

Since

. 1 1 1
(200) /F-df:/ <1,—t)-<0,1)dt:/ —tdt:—itz‘ — 0,
Ch — _

. -1 -1 1 -1
(210) / F-dF:/ <t,—1>-<1,0>dt:/ tdt:—tz‘ —0,
C9 1 1 2 1
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. —1 —1 1
(211) /F-dF:/ (1. 1) - (0, 1>dt:/ tdt — g2
Cs | | 2

. | 1 |
(219) /F-d?z/ <t,1>-<1,0)dt:/ at = | =0,
Cy —1 ~1 2 11

we see that

-1
, =0

1

(213) /ﬁ-df:0+0+0+0:@.
C

Solution to b: Since

214 @) =0= 5 (-p),

we see that F = (x, —y) is a conservative vector field. We now have 2 ways in
which to finish the problem.

Finish 1: Since F is a conservative vector field and C' is a (simple, piecewise
smooth, oriented) closed curve, we see that

(215) /Oﬁ -dr =10]

Finish 2: We now want to find a potential function ¢(x,y) for F. Since

<216) <§0I7 @y> - Vgp — ﬁ - <.CU, _y>7
we see that
1
(217) (T, y) =1 — p(x,y) = /xd:r: = 5962 +g(y) —
(218)
/ 1 1
9'(Y) = py(z,y) = =y = gly) = —5y" + C = plz,y) = 5" —y") + C.
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Now let P be any point on the curve C. For example, we may take P =
(1,1). Since the curve C' can be seen as starting at P and ending at P, the
Fundamental Theorem for Line Integrals tells us that

(219) [ Fedr= (1) o (1,1) =01

Remark: We see that in Finish 2, we did not even need to determine what
the function ¢ was in order to conclude that the final answer is 0.
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Problem 4.2: Let

1 -1 -1 T | b
(220) A=12 -1 1 |,Z= |z, and b= |by
-3 1 =3 T3 b3

a) Determine conditions on by, by, and bs that are necessary and sufficient for

the system of equations AX = b to be consistent.

b) For each of the following choices of I;, either show that the system Ax = b
is inconsistent or exhibit the solution.

R 7 o
b= (1] i) b= |2|iii)b= |3 iv)b= |1
1 1 1 2

Solution to a: We begin by representing the equation Ax = b as an aug-
mented matrix that we will proceed to row reduce into reduced echelon form.

1 =1 —1|b ?J‘rggl 1 =1 —=1| by
(221) 2 —1 1 |by| "= [0 1 3|=2b +b
-3 1 —-3|b3 0 —2 —6| 3b; +b3
Peion I -1 -1 b At this point you can already
(222) P=ST {01 3 | =2by 4by deduce when the system is
0 0 O] —=b +2b2 +b3| |consistent.
P 1 02 =by ++by
(223) 5210 1 3] —=2b; +by

000 =by +2by +0b3

From the third row of the augmented matrix in equation (223), we see that

(224) =0 -2 4+0-29+0-235=0,

and that the system of equations Ax = b is consistent if and only if equation
(224) is true. Furthermore, in the event that equation (224) is true, we see that

equations represented in equation (223) are
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(225)

(226) -

X1
)

+ 223 = —b1 + by
To + T3 = —2b; + by
—2x3 — by + by .
25 — 2b + by , T3 18 free.

Solution to b: In part a we obtained a formula for ¥ in terms of g, SO we
will now apply that formula to each of the vectors.

1
b= 1] = —b1 + 2by + b3 = 2 # 0 — | The system is inconsistent .
1
— _5_
ii:b= |2 — —b;+200+03=0
_1_
r1 = —2x3 — by + b .
(227) = = s — 9b 4 by T3S free
T —2$3 -3
(228) — | |z2| = | —x3—8 | , 23 1is free|.
T3 XT3
. 7
ii: b= |3 — —b1—|—2b2—|—bgzo
1
r1 = —2x3 — by + by :
(229) = 4y = — 2B 4 by T3 free
T —2%3 —4
(230) — | [x2| = | —x3— 11| , 23 is free|.
T3 L3
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iv: b

0
1| = —=b1+2b0+b3=4#0—
2

The system is inconsistent|.
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Problem 1 (Not from the text book): Find the inverse of

I =2 3
A=10 2 =5
I -1 1

Solution: We reduce the 3 by 6 matrix [A|l3] until the left half is in reduced
echelon form, which will be I3 since A is invertible.

1 -2 31[100 L (1 -2 3100
(231) 02 5010 —="[0 2 =50 10
1 -1 1001
. 1 311 00
(232) o — o1 =20 10
—2/-1 0 1 01 —2|—-101
B —2[ 1 1 0\ 10 -2/1 1 0
(233) " —20 5 0 =101 -2l0 % 0
% 1
g, (1O 2) 110y
(234) %" 0 lo1 0/ -5 =25
—2 -1 2 001 -2 —12
To check our work, we note that
1 -2 3 -3 —1 4
(235) AA =10 2 5| -5 —25
1 -1 1 —2 -1 2
1-(=3)+(-2)-(-5)+3-(-2) 1-(-1)+(-2)-(-2)+3-(-1) 1-4+(-2)-5+3-2 1 0 0
(236) —(0.(3)+2.(5)+(5)-(2) 0-(=1)+2-(—2)+ (=5) - (~1) 0-4+2-5+(5)~2)—(0 1 o).
1-(=3)+(=1)-(=5)+1-(=2) 1-(=1)4+(=1)-(=2)+1-(=1) 1-44(=1)-5+1-2 0 0 1

Remark: We only have to check that A™'A = I3 OR AA™! = I3. We do
not have to check both.
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Problem 4.9.46: Consider the matrices A, D ane E given by

2 —1
(237) L D = 28 dE=|1 1
0 2 1 02 0 3

Find matrices B and C for which AB =D and CA = F.

Solution: We see that

(238) A™'D =AY AB) = (A"'A)B = ,B = B, 0
a1l 31 =1 23
(239) B=A D_[O 2”1 02]
(240) O[3 (=1)4+1-13-241-03-341-2
0 (=1)+2:10:242:0 03422

(241) — [_22 8 141].

Similarly, we see that

(242) EA = (CAA =C(AA™ ) =CI, = C, so

= 1-3+1-0 1-1+1-2

—1 [3 . 2:3+(=1)-0 2-14(-1)-2
0-3+3-0 0-1+3-2

2
(243) C=FEA'= |1
0

(244) —

S W D
S W O
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Problem 4.9.59: Let @ and v be vectors in R”, and let I,, denote the (n x n)
identity matrix. Let A = I,, + @¥", and suppose that ¥ @ # —1. Show that

1

(245) Al =1, — atv’!, where a = T

This result is known as the Sherman-Woodberry formula.

Example: If n = 3,

1
(246) U= [2] andd= [ 1 | then
3

1
(247)  Ta=(-110)(2]=(-1)-1+1-240-3=1+# —1 and
3

100 1
(248) A=L+ar" =010+ ([2](-110)
001 3
100 1-(=1) 1-1 1-0
(249) =1010|+{2:(-1) 2120
001 3-(=1) 3-1 3-0
100 ~110 0 10
(250) =|010]+[-220])]=[-230
001 —3 30 -3 31

We also saw that

~110

(251) v'i=1and W’ = | -2 2 0] so
-3 30
1 1 1

252 — _ — Zand
(252) “Tiyda 141 2™
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100 ~110 3 -1
1 T 1 2 2
(253) A =Ii—auv' =010 ~5 —220=(1 0 0
001 -3 30 3 31
Indeed, we see that
0 10\ /250
(254) AA T =1-230] |1 0 0
3 3
-331) \2 21
0-2+1-140-3 0-(—3)+1-04+0-(—2) 0-04+1-0+0-1 1 00
(255) —((2).g+3.1+0.g (=2) - (=5)+3-04+0-(—3) (2).0+3.0+0-1>—<0 1 0)
(=3)-2+3-1+1-2 (=3)-(—3)+3-0+1-(=3) (=3)-0+3-0+1-1 0 0 1

Solution: The inverse of a matrix (if it exists) is unique, so for

(256) B =1, —aii’,

we only have to verify that

(257) AB =1, or BA =1,

as we will then know that A is invertible, and that A~! = B. Since 7% is a
scalar, let us simplify our notation by letting

1
(258) b= o1 sothat a = ——.
1+0b
We see that
(259)

AB = (I, + av")(I,, — awtv") = LI, + av’ I, + I,(—atuv") + wv' (—auv’)

(260) = I, + @i" — aui’ — a(@®) (@7 = I, + @i’ — aiiv? — au( @)

(261) = I, +uv’ —auv’ —ad(b)v’ = I, + a4t — auv’ — abiv’
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1 b
(262) =1, +(1—a—ab)a® Y 1 10— T
(263) =1, + 040 =1,
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Some Problems From the Appendix on Complex
Numbers

Modified Problem 12: Plot z = —1 — %z in the complex plane. Then
0

find the modulus and argument of z, and express z in the form z = re®.

2 r
Solution: Based on the diagram below, we see that —1 — %z = %ez% :
o '{"_] - ST
| Fan ( _ﬁ ) Tl o
© (o) .--) )
- 3 T3
& () T \I/@ 1 o
6 "
T B 297

Problem 19: For z = —1 + 47 and w = 5 + 2¢ evaluate ‘ﬁ|

Solution 1: We see that

64) 2 —1+4i  —1+4i —1+4i 10—4i (=14 42)(10 — 44)
2w  2(5+2) 10+4i 10+4i 10 —4i (104 4i)(10 — 44)

1

—10 + 404 + 4i—163* 2- 1 —10 + 404 + 4i+16

T 100+ 40i — 40i—16:2 100 + 40i — 40i+16

(265)

G 4di 3+ 22

260
(266) 116 o8
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Z

2w

1 1 193
(267) - = o322 = VB p 22 =

58 o8

3422
58

Solution 2: We see that

2wl 2w|  2lw| 2|5+ 20
(260) O V(=D)P+ 42 VAT V493
2v/52 + 22 2429 B8 |

Problem 28: Evaluate i(e’t — e™'%).

Solution: Recalling FEuler’s formula

(270) e = " = e*(cos(y) + isin(y)), we see that

- TC

(271) i’ —e7'8) =1 ((cos(%) + isin(%)) — (cos(—%) + isin(—g)))

(272) =1 ((COS(%) + isin(%)) - (cos(g) — isin(%))) = (2@' sin(%))

(273) =i(2i--) =i =[—1]

Problem 53: Find all possible fourth roots of —16. Equivalently, find all
possible values of (—16)%1.

Solution: We see that

(274) —16 =16 - (—1) = 16e™ = 16¢'™ ") (where n is an integer)
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1 1
(275) — (-16)% = (166z’(7r+2n7r)>71 _ 164 (ei(ﬂ'+2n7r)>71
(276) = 2¢/(1737) (where n is an integer)
(277) — (~16)% € {201, 2¢" 00T 261},

Making use of Euler’s formula, we see that

(278) — 9 (cos(g) +isin(g)> — 2(\2 \}i) _ |
(279) 26T =2 (cos(?j%)ﬂsm(%)) - (—%+ ;5) —V2+ V2,
20) 2% =2 (eos %) isin(F) ) =2-stil-5)) = ,
(281) 26T =2 <cos(7ﬁ) + zsin(%r)) - (i2 + 7;(—%)) = V2 — V2,
(282)  — (—16)1 € |{ =2+ V2, V2 — V20
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Problem 5.2.17: Solve the following initial value problem.

(283) y' =3y —18y=10; y(0)=0,4'(0) =4

Solution: We see that the characteristic polynomial of equation (283) is

(284) 0=r*—3r—18=(r —6)(r +3),

which has roots » = —3,6. It follows that the general solutions to equation
(283) is

(285) y(t) = cre”? + cpe.

Using the initial conditions, we see that

(256) 0= y0) = ce?P+ce = c+o

4 = y(0) = —3c1e*V +6c2e"" = —3c; + 6y

ci + ¢ = 0 R3R; ¢ + ¢ = 0
(287) —3c1 + 6cy = 4 ~ oo = 4
1R — . — _Z_JL
(258) o ¢ + & = 2 Ri-fp €1 ~ 0
€2 = 3 €2 = 3
4 4

(289) — ly(t) = —§e—3t + §e6t.

Page 75



Sohail Farhangi Recitation Notes for 12/1/2020

Problem 5.2.23: Solve the following initial value problem.

1
(290) y' =y + V=0 y(0) =1,9/(0) = 2.

Solution:We see that the characteristic polynomial of equation (290) is

1 1
291 O=r2—pr4+- = Y

which has r = % as a double root. It follows that the general solutions to

equation (290) is

(292) y(t) = cre? + cote?.

Noting that

/ 1 t t 1 t 1 4 1 t
(293) y(t) = 56167 + €2 + 5021567 = (501 + c9)e? + 5027567,
we can use the initial conditions, to see that
0 0
1 = y(0) = crez +cy-0-e2 = 1
(294) / 1 0 1 0 1
= y(0) = (Gaa+e)e? +56-0-€2 = 5e1+ ¢
C1 =1 1 — 1
(295) Tl =2 g =2-11=23
t 3t
(296) —y(t) =e2 + §t€7 :
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Problem 5.2.31: Solve the following initial value problem.

(297) y" + 6y +10y =0; y(0)=0,4(0) =6.

Solution: We see that the characteristic polynomial of equation (297) is

—6+£v62—4-1-10 —6+£+/—4

208) 0= r°+6r+10 — r =
(298) r°4-6r-+ r 51 5

_ 3+,
It follows that the general solutions to equation (297) is

(299) y(t) = el 4 e300 — ¢ sin(t)e ™ + ¢, cos(t)e .
Noting that

(300)  y/(t) = ¢y cos(t)e ™ — 3¢y sin(t)e ™ — cysin(t)e ™ — 3cy cos(t)e
(301) = (=3¢ — ¢g)sin(t)e ™™ + (¢ — 3cg) cos(t)e ™,

we can use the initial conditions to see that

0 = y(0) = c;sin(0)e "+ ¢y cos(0)e3

B2 65— (0) = (=3¢, — cp)sin(0)e0 + (e — 3ey) cos(0)e3?
0 = Co Cor — 0

<303) —>6201—3CQ_>01 :6—|—362:6

(304) — |y(t) = 6sin(t)e |
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Problem 5.2.37: Solve the following initial value problem.

(305) t*y" + 6ty + 6y =0; y(1)=0,y(1) = —4.

Solution: We perform a substitution (or a change of variables) in order to
convert equation (305) into a constant coefficient differential equation, which
will then be straight-forward to solve. Letting x = In(¢), we see that t = e”,

and we may define = y(e*) = y(1). We see that
(306) H(z) = ~=h(z) = y(e”) = y/(e) - =e” = /(") - ¢ = ty/(¢), and
dx dx dx ’
d d d d
7 IR N (0T (DTN (0T Lo (o7 R
B07) () = @) = ey () = (") -y (e) o)

(308) — ezcy/(ex) _|_€.:1: . exy//<€x) — exy/(ex) _|_€2:Uy//(6x) _ ty/(t) +t2y”(t).

We now see that

(309) = 1%y 4+ 6ty + 6y = (t*y" + ty/) + Sty + 6y

(310) = (t%y"(t) + ty'(t)) + 5ty (t) + 6

(311) = 1" (z) + 51 (z) + 6 =

We see that the characteristic equation of our is

(312) 0=7r?+5r+6=(r+2)(r+3),

and has solutions r = —3,—2. It follows that the general solution to our
1S

(313)

Recalling that o = In(t), we see that the general solution to equation (305) is
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(314) = h(z) = cre * 4 cpe " = cre 20 4 el —

Making use of the initial conditions, we see that

(315) 0= yl) = ¢ 124173 = c1+ ¢
—4 = 9y(1) = —2¢;-17%=3cy- 17" = —2¢; — 3¢9
cp + ¢ = 0 Ry+2R ¢ + co = 0
(316) T 9¢, — 3¢y = —4 —cy = —4
ip — _ -
s ¢ + ¢ = 0 Ri—Ry C1 = 4
(317) RN o = 4 o = 4
(318) — |y(t) = =4t 2 4 473,
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Modified Problem 5.2.43: Determine A, w, and ¢ for which

(319) —3sin(4t) + 3 cos(4t) = Asin(wt + ).

Solution: Firstly, we use the angle-addition formula for sin to see that
(320) Asin(wt 4+ ¢) = Asin(wt) cos(p) + Asin(p) cos(wt), so
(321) —3sin(47) + 3cos(4t) = A cos(p)sin(w?) + Asin(p)cos(wt).
We now see that w = 4, and that

Acos(p) = =3

(322) Asin(p) = 3

(323) — A% = A%cos?(p) + A%sin’(p) = (=3)> + 32 =18 — A=+ 3V?2

cos(p) = F= 3r 0w
324 — . 2 - = —, —=
(324) sin(p) = :I:% LRI
3
(325) — —3sin(4¢)+3 cos(4t) = Bﬂsm(zxwf) - —3\/§sin(4t—%).

This is melitude—
phase form since A is
positive.
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Problem 5.1.59: Find the general solution of the equation

(320) "y = 1.
Note: The problem in the textbook has hints.

Solution: We note that y(¢) is not present in equation (326), so we perform
the substitution v(t) = ¥/(t). We see that v'(t) = y"(t), so equation (326)
becomes

d
327 1:vv’:v—védt:vdv
dt
1 1
(328) —t= /dt = /vdv = 5?}2 +c = é(yl)2 + ¢
d
(329) 20 =y = d—i{ s dy = /2 — 26t

1
(330) Yy = /dy = /i\/Qt — 2c1dt = i§(2t — 201)% + ¢y

I
(331) = |y(t) = (2 - 2¢1)7 + c|.

Remark: If we had initial conditions, then we could use them to try and
determine values for ¢; and ¢y. We should also note that this solution is only
defined when ¢ > ¢;. We also note that the form of the general solution looks
completely different from the form of the general solution to a linear differential
equation. The constants ¢; and ¢y are NO'T coefficients in a linear combination,
and we have 2 completely disjoint sets of solutions (the positive solutions and
the negative solutions each have 2 degrees of freedom).
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5.1.62: Solve the differential equation

(332) y' =eV.
Note: The problem in the textbook has hints.

Solution: We note that y(t) is not present in equation (332), so we perform
the substitution v(t) = y'(t). We see that v'(t) = y"(t), so equation (332)
becomes

d
(333) vV=e"—>1=¢e"= e”d—: — dt = e"dv
(334) %/dt:/e”dvét+61:evzey/
, Ay
(335) —In(t+c)=y = pi dy = In(t + c1)dt

(336) — Yy = /dy = /ln(t +c)dt = (t+c)In(t+c1) —t + co.

(337) —lyt) =t +c)In(t+c) —t + o

Remark: If we had initial conditions, then we could use them to try and
determine values for ¢; and ¢y. We should also note that this solution is only
defined when t > —c;. We also note that the form of the general solution looks
completely different from the form of the general solution to a linear differential
equation. The constants ¢; and ¢y are NOT coefficients in a linear combination.
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For the following problems use the method of undetermined coefficients in order
to find the general form of the solution to the given differential equation. (Some
of these textbook problems are initial value problems, but we will not worry
about using the initial values to determine the values of the coefficients.)

Problem 5.3.22:

(338) ' +y = cos(2t) +t°.

Solution: We see that the homogeneous equation corresponding to equation
(362) is

(339) y' +y =0,

and has characteristic equation

(340) 0=7r*4+1=(r+i)(r—:1)

It follows that the general solution to equation (339) is
(341) y(t) = cre”"" + cpe’ = ezsin(t) 4 ¢y cos(t).

We now see that the right hand side of equation (338) is not related to the
solutions of equation (339), so we may use the standard form of the general
solution in the method of undetermined coefficients, which tells us that

(342) y(t) = Acos(2t) + Bsin(2t) + Ct* + Dt* + Et + F|.

Problem 5.3.32:

(343) y" + 4y = cos(2t).

Solution: We see that the homogeneous equation corresponding to equation
(362) is
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(344) Y +4y =0,

and has characteristic equation

(345) 0=7r*+4=(r+2)(r—2).

It follows that the general solution to equation (344) is

(346) y(t) = cre " + cpe™™ = c3sin(2t) + ¢4 cos(2t)

We now see that the right hand side of equation (343) is related to the solutions
of equation (344), so we have to adjust the standard form of the general solution
in the method of undetermined coefficients. Originally, we would have used

(347) y(t) = Asin(2t) + B cos(2t),

but we saw that sin(2¢) and cos(2t) are solutions to equation (344), so we then
adjust our answer by multiplying by ¢ to get

(348) y(t) = Atsin(2t) + Bt cos(2t))|.

Modified Problem 5.3.34:

(349) 2y" — 8y + 8y = 4e*.

Solution: We see that the homogeneous equation corresponding to equation
(349) is

(350) 20" — 8" +8y =0 — " — 4y + 4y =0,
and has characteristic equation

(351) 0=1r"—dr+4=(r—2)°
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It follows that the general solution to equation (350) is

(352) y(t) = (eit + ca)e.

We now see that the right hand side of equation (349) is related to the solutions
of equation (350), so we have to adjust the standard form of the general solution
in the method of undetermined coefficients. Originally, we would have used

(353) y(t) = Ae”,

but we saw that e is a solution to equation (350), so we would then adjust
our answer by multiplying by ¢ to get

(354) y(t) = Ate*,

but we see that te® is also a solution to equation (350) (which should not
surprise us since 2 was a double root of the characteristic equation), so we
adjust our answer by multiplying by ¢ once again to get

(355) y(t) = At?e? .

Problem 5.3.45:

(356) y' —y = 25te " sin(3t).

Solution: We see that the homogeneous equation corresponding to equation
(356) is

(357) y" —y =0,
and has characteristic equation
(358) 0=r"—=1=(r—1)(r+1).

It follows that the general solution to equation (357) is
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(359) y(t) = cre’ + e

Recalling that

(360) e sin(3t) = _%(6(—1+3i)t iy,

we see that the right hand side of equation (356) is not related to the solutions
of equation (357), so we may proceed to use the standard form of the general
solution in the method of undetermined coefficients, which tells us that

(361) y(t) = (At + B)e 'sin(3t) + (Ct 4+ D)e " cos(3t) .

Problem 5.3.49:

(362) yW — 3y + 2y = 6te*.

Solution: We see that the homogeneous equation corresponding to equation
(362) is

(363) yW — 3y + 2y = 0,

and has characteristic equation

(364) 0=7"=3r"+2=(r* —=2)("* = 1) = (r —V2)(r + V2)(r — 1)(r +1).
It follows that the general solution to equation (363) is

(365) y(t) = eV 4 cye V! 4 czel + cpe

We now see that the right hand side of equation (362) is not related to the
solutions of equation (363), so we may proceed to use the standard form of the

general solution in the method of undetermined coefficients, which tells us that
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(366)

y(t) = (At + B)e* |,
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Problem 3.5.21 (From a different Textbook): Use the method of
undetermined coefficients to find the general solution to the differential equation

(367) y" + 3y = 2" + 2 +sin(3t).
Solution: We will first find a particular solution y;(¢) for
(368) oy’ + 3y’ = 27,

a particular solution () for

(369) y' 3y = e

and a particular solution ys(t) for

(370) Y+ 3y =

Once y1(t), y2(t), and y3(t) are all found, the linearity of equation (367) lets us
see that y1(t) + y2(t) + y3(t) is a particular solution of (367). To find y(t) we
begin with

(371) U1 (t) = CL4t4 + a3t3 + &2t2 + Cblt + ay

but we then notice that y(t) = 1is a (nonrepeated) solution to the homogeneous
equation corresponding to equation (367), so we have to modify this initial guess
to become

(372) U1 (t) = a5t5 + CL4t4 + CL3t3 + a2t2 + aqt.
Since

(373) yi(t) = bast® + dast® + 3aszt? + 2ast + a; and
(374) ! (t) = 20ast® 4+ 12a4t* + 6ast + 2as,
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we see that
(375) 2t =yl + 3y,
(376) = (20ast® + 12a4t* + Gast + 2as) + 3(5ast* 4+ dat’® + 3ast® + 2ast + ay)

(377) = 15a5t4 + (12@4 + 20&5)t3 + (9&3 + 12&4)t2 + (6@2 + 6&3)t + (3&1 + 2@2)

15&5 = 2

12a4 + 20a; = 0

(378) — Y9a3 + 12a4 = 0
6ay + 6ag = 0

3a1 + 2a9 = 0

6 8 8 2 2

(379) = (01,05, 03,04, 05) = (o3, =500 500 50 15

).
To find yo(t) we begin with

(380) yo(t) = (ap + art + a2t2)e_3t

but we then notice that y(#) = e is a (nonrepeated) solution to the homo-
geneous equation corresponding to equation (367), so we have to modify this
initial guess to become

(381) yz(t) = <a1t + CLQt2 + agt?’)e_?’t.

Since
(382) yy(t) = (art + ast + azt®) e + (art + agt® + ast®)(—3e)
(383) = (a1 + 2ast + 3ast®)e " + (=3at — 3agt® — 3ast’)e ™

(384) = (a1 + (—=3a1 + 2a2)t + (—3as + 3a3)t* — 3azt’) e and
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(385) y5(t) = (@1 + (—3a1 + 2a9)t + (—3as + 3ag)t” — 3a3t3)/ e ¥
=+ (al + (-3&1 + 2@2)t + (_30/2 + 3&3)752 — 3a3t3) (—36_3t)

(386) = ((—3ay + 2a) + (—6ay + 6ag)t — 9azt?) e~
+ (—=3a1 + (9a1 — 6a2)t + (9az — Yaz)t* + 9azt’) e

(387) = ((—6a1 1+ 2a9) + (9ay — 12as + Gaz)t
+ (9@2 — 18&3)t2 + 9a3t3) G_St,
we see that
(388) t?e 3 =yl + 3y,
(389) = ((—6a1 + 2a9) + (9a; — 12as + Gas)t

+ (9@2 — 18&3)t2 + 9a3t3> 6_3t
+3 (a1 + (=3ay + 2a2)t + (—3as + 3a3)t* — 3a3t3) e ¥

(390) = ((—=3a1 + 2a2) + (—6ay + 6az)t — Yast™) e
—9CL3 = 1] 9 1 1
(391) — —06ay + 6Gaz = 0 — (al,ag,ag) :(—2—7,——,——).
34, + 2y = 0 9

Lastly, to find y3(t) we use

(392) ys(t) =
Since
(393) y5(t) = 3A cos(3t) — 3B sin(3t) and
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(394) Yy (t) = —9Asin(3t) — 9B cos(3t),

we see that

(395) sin(3t) = y3 + 3y = (—9Asin(3t) — 9B cos(3t))
+ 3(3A cos(3t) — 3B sin(3t))

(396) — (—9A — 9B)sin(3t) + (94 — 9B) cos(3t)
(397 A Cop _ o 2 AB) = ()

Recalling that the general solution to the equation

(398) Y + 3y =0

3t

is given by y(t) = ¢1+coe™", we see that the general solution to equation (367)

1S

_ 2 _ L, _ 1, _
(399) y(t) = c1 + coe™" — 2—7756 - §t2€ - §t3e St
2 1

6, 8, 8. 2, i | 1
D02 Ol i S5 n(38) — — cos(3).
et Tt Tt Tt Tt T g sin() — geos(3)

Remark: In the beginning, we could have also directly guessed that the general
form of a particular solution is

(400) y(t) = (c1 + art + aot?® + ast® + agt* + ast®)

+ (g + byt + bt + bst®)e ™ + Asin(3t) + B cos(3t),
but when attempting to calculate the coefficients by hand (instead of using a
computer algebra system) it is useful to break up the work into smaller chunks

as we did here.
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Problem 6.2.27 (Not part of the final this year): Consider the partial
differential equation

0%u 1% 1 0%u

(401) o Tror T Ror

= 0.

Show that for a solution u(r,0) = R(r)O(0) having separated variables, we
must have

(402) r*R"(r) +rR'(r) — AR(r) = 0, and

(403) 0" (0) + A6(0) = 0,
where )\ is some constant.

Solution: We begin by plugging u(r,0) = R(r)©(f) into equation (401) to

see that

Wy 0=L (RO + L REOE) + 5 (R6(H)
(405) = R'(r)0(6) + - R(r)6(®) + 5R()e"(0)

(100) > g RN6'(6) = R'(r)6(6) + R (r)6(6)

o 0(6) _ R'()+ 1R .

7.
O(0) — 2 R(r)
To derive equation (402) we use equation (407) to see that

R"(r) + ;R/(r)
—=R(r)

(108) = R/(r) + - R(r) = ~ 5 R(7)

72

(409) — R"(r)+ %R’(T) + %R(T) =0 — r°R"(r)+rR'(r) + yR(r) = 0.
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To derive equation (403) we use equation (407) to see that

©"(6
(410) @<(‘9)) =5 — 0"(0) =~v0(0) — 6"(0) — v6(0) = 0.
We now see that we can pick our constant A as A = —~.

Page 93



Sohail Farhangi Recitation Notes for 12/1/2020

Problem 6.2.30 (Not part of the final this year): Consider the partial
differential equation

O*u  10u 10°u O
411 — =+ = = 0.

(411) 8r2+7‘8r+7‘289+8z2 !

Show that for a solution u(r, 0, z) = R(r)O(6)Z(z) having separated variables,
we must have

(412) + =0,
(413) Z"(2)+ AZ(z) =0, and
(414) + — (A + ) =0,

where p and A are constants.

Solution: We proceed as in problem 6.2.27 and plug u(r, 0, z) = R(r)©(0)Z(z)
into equation (411) to see that

@05 ZRMOOZ(:) + L (BEOO)2() + 5 T (RMOOZ(:) + o5 (REIOO)Z(:) = 0

(416) L R(MO(0)2(2) + %R’(r)@(@)Z(z) + T%R(r)@”(@)Z(z) + R(MO(O)Z" () = 0.

We will now try to derive equation (413) from equation (416). Beginning with
equation (416) we see that

(417) R'(1O(0)2(2) + %R’(r)@(@)Z(z) + T%R(m@"w)z@) + R(MO0)2"(2) = 0.

(418) _RMOO)Z(2) = R'(NO(0)Z(=) + %R’(T)G(Q)Z(z) RO (O)2(:)
Z'(z)  R'(rO6) + 'R (r)e(6) + LR(re"(6) .

(419) 720 - “R(NG(0) = A

(420) 5 Z"(2) = —NZ(2) = Z"(2) + AZ(2) = 0.

We will now derive equation (412) from equation (416). Beginning with equa-
tion (416) we see that
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(421) R/ (1)0(6)2(2) + %R’('r’) Z(:) + T%R(r) Z(2) + R(r)O(0)2"(2) = 0.
(422) —%R(r) Z(z) = R"(r) Z(z) + %R'(r) Z(z) + R(r) Z"(2)

(423) — =

(424) L 67(8) = —O(0) > O'(0) + O () =0,

Lastly, we will derive equation (414) from equation (416). Beginning with
equation (416) we see that

(425) 0(0)7(z) + 0(0)7(2) + O"(0)Z(2) + 1(110(8)2"(2) = 0.
(426) 0(0)7(2) + 0(0)7(z) = — O"(0)7(2) — R(110(6)2"(2)

+ = 20"0)Z(2) —6(0)2"(z) ") —-2"(z) u
(2 = - o0)Z(2) =T %0 T 26 o A
(428) - + =L LR = + (2 re) =0
(429) oy + — (p+717X) = 0.
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Problem 6.2.13: Find the values of A (eigenvalues) for which the following
problem has a nontrivial solution. Also determine the corresponding nontrivial
solutions (eigenfunctions).

(430) ' + =0, 0<z<m y0)—19(0)=0, y(r)=0.

Solution: We begin by examining the characteristic equation for equation
(430) and see that

(431) P A=0—=71r==2V-\

We now consider 3 separate cases based on the sign of A.
Case 1: A = 0.

In this case we see that » = 0 is a double root of the characteristic equation, so
the general solution to equation (430) is

(432) y(t) = c1e” + cote’" = 1 + eat.

Noting that

(433) y'(t) = e,

we proceed to make use of the initial conditions to see that

0 = y0)—vy(0) = c1—c cT = B
(434) 0 = y(m) = ¢+ ey ~ cL = —TCy — (e1,¢2) = (0,0),

so we only have trivial solutions in this case.
Case 2: A < 0.

In this case we see that r = v/—\ and r = —+v/—\ are distinct real roots of the

characteristic equation, so the general solution to equation (430) is
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435 t —ce‘/_t—i—ce\/__m.
(435) y(t)

Noting that

436 (1) = ¢ eV Co —)\e_mt,
(436) Y Vv vV

we proceed to make use of the initial conditions to see that

(437) 0 = y(0) = y'(0) = e1i(1 = V=) + (1 + V=2
0 = y(m) — eV 4 eV
(438) N 16_\/\_4? 1;\/\{_3 ] [2] = [8] . Since
~ L

(439) det(A) = e V(1 = V=X) — eV (1 4+ V=X) <0

we see that det(A) # 0, so A is a nonsingular matrix. It follows that equation
(438) only has the trivial solution of (¢1,¢9) = (0,0), so we only have trivial
solutions to equation (430) in this case as well.

Case 3: )\ > 0.

In this case we see that r = v/—X\ and » = —v/—\ are distinct complex roots
of the characteristic equation, so the general solution to equation (430) is

(440) y(t) = cieV M + die VM = ¢ cos(VAL) + cosin(vVAt).
Noting that

(441) y'(t) = —c1V Asin(Vt) + eV A cos(V ),

we proceed to make use of the initial conditions to see that
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0 = y(0) = y'(0) = c1 — 2V
0 = y(m) = ¢1 cos(VAT) 4 cpsin(v/ )

C1 = Cz\/x
0 = ¢ cos(vVAT) 4 casin(v/Ar)

c1 = CQ\/X
(444) ndl (\acos(ﬁw)mm(\@r)) '

(442)

(443) —

In order to have nontrivial solutions to equation (430) we need to have nontrivial
solutions to system of equations in (444). We see that ¢; = 0 if and only if
co = 0, and that ¢y will be 0 if

(445) VA cos(VAT) 4 sin(VAr) # 0.

It follows that we want to find the values of \ for which

(446) VA cos(VA) + sin(VAr) = 0,
so that we can find a corresponding ¢y # 0. Sadly, equation (446) is not

something that can be explicitly solved by hand. Therefore, we let {\,}>,
denote the solutions to equation (446) as shown in the picture below.

- — ' —
ﬁ v oo v n) sl v x)

;I'f/ \'\..- )
llh % i.‘ i Fi b r
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To be precise, we know that the solutions to equation (446) exist even though we
cannot write down exactly what they are, so we talk about them by enumerating

them as {\,}>2 .

We note that for any n > 1, if A = A, then the second equation in (444) holds
for any value of ¢, so we will have (1, ca) = (ca3v/ A, ¢2) is a nontrivial solution
to equation (430). In conclusion, the eigenvalues of (430) are {A,}52; and the
eigen functions corresponding to any given A, are

(447) y(t) =c <\/)\7ncos(\/)\7nt) + sin(mt)) ;ceR.
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Problem 6.2.14: Find the values of A for which the initial value problem

given by
(448) y' =2y + Ay =0 O<az<m
(449) y(0) =y(m) =0

has nontrivial solutions. Then, for each such A, find the nontrivial solutions.

Solution: We see that the characteristic polynomial of this equation is 7> —

2r + X and has roots

2+/1—1
(450) r= 5 A L vioa

We now consider 3 separate cases depending on the sign of (1 — X).
Case 1: 1 — A =0.

In this case, A = 1 and r = 1 is a double root of the characteristic polynomial,
so the general solution to equation 448 is

(451) y(t) = 616Zf + CQt@t.

We see that

(452) 0=y(0)=cie’+cy-0-e" = ¢y, and
(453) O=y(m)=cy-m-€" = cy =0,

Since (c1, ¢2) = (0,0), we see that in this case we only have the trivial solution.
Case 2: 1 — A > 0.

In this case, we see that the general solution to equation 448 is
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(454) y(t) = creMHVImNE L gyel=VI=AE
We see that
(455) 0=y(0) = eIV L) eIVIEN0 — ) ) and

(456) 0 = y(m) = crIVINT gyl VI=AT

Solving the system of equations given by (455) and (456), we see that

1 1 0

(457) [6(1+\/1)\)7r 6(1—\/1—)\)7r O]
R2—6(1+m)ﬂR1 1 1 0
(458) — [O 6(1—\/1—)\)7r _ €(1+\/1—)\)7T 0

(459)

(1=VI=N)m l}ﬁ/l ) 1110
0 11]0

1-Ry [1 010
0 110}’

s0 (c1,c2) = (0,0). We once again see that we only have the trivial solution.
Case 3: 1 — A <0.

In this case, we see that

(460) Re(1£+v1—A) =1and Im(1++v1—X)=+VA—1,
so the general solution to equation (448) is

(461) y(t) = cre! cos(vV A — 1t) + o€’ sin(vV/ X — 1t).

We see that
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(462) 0 =1y(0) = c1e’ cos(v'A — 1-0) + cze’sin(vVA — 1-0) = ¢;, and
(463) 0=y(m) = ce™ sin(vV A — 1m).

If e™sin(v/ A — 1m) # 0, then we will have that (c¢1,c2) = (0,0). Since we are
looking for nontrivial solutions, we want the values of A for which e” sin(v/A — 1) =
0, which is the same as the values of A for which

(464) sin(vVA — 1) = 0.

Note: The equation for some other problems of this type (such as problem
6.2.13 from the second edition of the textbook) that corresponds to equation
(464) is not solvable by hand. In such a situation, it is perfectly acceptable to
say ‘Let (A,)>2; be the solutions to equation (464).” From then on, you may
work with (A,)>°; as known values. Luckily, equation (464) is solvable by hand,
so we will just go ahead and solve it.

We recall that the (/s of sin(z) occur exactly at the integer multiples of .
Given n € Z, we see that

(465) n=vA—1&A=n*+1,

S0 (n? 4+ 1),ez is all of the solutions of equation (464). We now see that for
each integer n, equation (463) is satisfied by any ¢, € R.

Putting together the results of all 3 cases, we see that the initial value problem
given by equations (448) and (449) has nontrivial solutions if and only if A\ =
n? + 1 for some integer n. Furthermore, for any such A = n? + 1, the solution
to the initial value problem is

(466) y(t) = ce' sin(nt),

where ¢ can be any real number.

Page 102



Sohail Farhangi Recitation Notes for 12/1/2020

Problem 6.3.11: Find the fourier series of the function

(467) flw) =

1 if —2<x<0
r f0<xz<?

over the interval [—2, 2].

ki

[
Fad
Fut

-1l5 -1 <05 l:l a3 1 =]

Solution: Since our interval has a radius of L = 2, we see that the basis we will

work with is (sin(2222))°° | U (cos(2ZRL))>e_ Wthh simplifies to (sin(™£))%° ;U

2L 20 2
(cos(T5%) )pe—i- We may now let ag, (a,);e;, and (b,)72; be such that

n=1»

(468) f(x) ~ay+ ; a, COS(T‘-QE) + ; by Siﬂ(%).

First let us determine the sequence (b,,)2° ;. We note that for each n > 1 we

have

L
(469) b, = % / . f(z) sin( 27T ’MC / F()sin mx)

n=1-
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1 I
(470) / f(z)sin an) / Sin(M)dan—/ :Usin(w)da:.
—o )/, 2/, >
We see that
e 1 0 2 2
(471) 5 /2 sin(%m)dx = Cos(m;v) = %COS(—WH)

(472)

B 0 if n is even
N —% if nis odd

Using integration by parts, we also see that

1 [? 1 2 2 9
(473) —/ xsin(—ﬂnx)dx = ——1x Cos(—mm) — / — cos(ﬁmj)dx
2 Jo 2 ™ 2 “la=0 g TN 2
2 2 mnx. |2 2
(474) = cos(mn) + <7T2n2 sin( 5 ) 330) = cos(mn)

™

2 if n is odd
™

(475) _ {1 if n is even

Putting all of this together, we see that for n > 1 we have

1 /0 ™ 1 [? ™ —2  ifnis even
476) b, = = in(——)dx + — n(——)dx =< ™ ,, :
(476) 2/2 sin 2 Jdz 2/0 zsin{ )de {() if n is odd

Now let us determine the sequence (a,,)°% ;. We note that for n > 1 we have

W oa F(a) cos{ 27Tnx £ cos( m;)
i/, =3,

1
(478) = 5/2 cos(ng)der 2/0 ZUCOS(T”;I>CZZC.
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We see that

(479) —/ cos(Lm)dx: ! sin(m;x)

—9 2 TN

Using integration by parts, we also see that

1 (2 1 2 2 9
(480) —/ xcos(w)da::—ajsin(w—m) —/ —sin(ﬂ)daz
2 Jo 2 ™ 2 la=0 g TN 2
1 2 TN 2 TN . |2
481 = —— n(——)dx = —
(481) ™ J sin 2 Jdz m2n? cos( 2 ) 2=0
? 0 if n is even
(482) 22 (cos(mn) ) {WQ—QLQ if n is odd

Putting all of this together, we see that for n > 1 we have

(483)

1 [0 1 [? 0 i 1 is ever
p = —/ cos(@)dx 4 _/ a:cos(ﬂnm)dx _ ) II 1 18 even
2 2 2 0 2 .

9 ——~ ifnisodd

Lastly, we see that

I 1 [? 10 1 (2
484 = — dr = - dr ==~ [ ldw+- d
(484) ag QL/Lf(x)a: 4/2f(aj)x 4/2 :C—|—4/O:Ux

2
) 1.
=0

(486)  f(@)~ 1+ (Z (1) - UCOS@%)) - ( L ((—1ym - 1>sm<$)>

™n
n=1

1 x?
485 — —
( ) 2+<8

Finally, we see that

n=1
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Problem 6.4.10: Find the Fourier sine series for

(487) flz)=¢", O<z<l

Solution: The fourier sine series of f(x) is just the fourier series of g(x), the
odd 2-periodic extension of f(z), which is the 2-periodic function defined by
the formula

] f(=) if O<x<l
(488) g(x) = {—f(—a:') if —1l<zx<0

Below is a graph of g(x) restricted to the interval (—1,1). The red portion of
the graph is also the graph of f(x).

+ « £ « 2
EJ'Z&T{D{_T{I}
Ef y=—e "{-1<x<0} :

(%]
=

.._‘_.H‘.
%]
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Since g(x) is an odd function (by construction, this will always be the case) the
fourier series of g(x) will not have any cosine terms in it. We see that for any
n > 1, we have

e 2 oddness 2 [
(489) by, = I/ g(x) sin( n;aj)d:c by edd I/ f(x)sin(nmx)dx
-1 0

1 1 e(l—i—mm')x _ e(l—nm')x
(490) = 2/ e’ sin(nrx)dr = 2/ , dx
0 0 21
1 ' _ (14+nmi)z (1—nmi)x 1
(491) _ —’i/ (6(1+nm)a: o 6(1—n7rz):c>dx — <€ '_ e ) |
0 l+nm  1—mnm /) lo
14+nmi 1—nmi 0 0
(492) i [y e
l4+nm 1—nm l+nm 1—nm
(103) — e(cos(nm) +isin(nm))  e(cos(nm) + isin(—nm))
B 1+ nmi 1 — nmi

1 1
l4+nm 1—nm

e(—1)" =1 e(=1)" =1 2e(—1)" 2

494 = — = —

(494) 1 4 nmi 1 — nmi 1 + n?n?
= 2e(—1)" -2

(495) — | flz) ~ Z L2 sin(nwx)|.
n=1 /
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Problem 6.4.12: Find the Fourier cosine series for

(496) flx)=1+2z, 0<z<m.

Solution: The fourier cosine series of f(x) is just the fourier series of g(x), the
even 2m-periodic extension of f(x), which is the 2m-periodic function defined
by the formula

B f(x) if O<z<mw
(497) g(x) = {f(—x) if —mr<z<0

Below is a graph of g(z) restricted to the interval (—m, 7). The blue portion of
the graph is also the graph of f(x).
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Since g(x) is an even function (by construction, this will always be the case)
the fourier series of g(z) will not have any sine terms in it. We see that for any
n > 1, we have

]- m 2 evenness 2 m
(498) ap = _/ g(z) cos( mm)df e _/ f(z) cos(nx)dx
T Jo

™) 2T
2 (7 2 ' m 2 [T s
(499) = —/ (14z) cos(nx)dx = _.(1+x)sm(nx) ——/ 1-Sm(nx)dx
™ Jo ™ n =0 T Jo n
2 (—cos(nx)|™ 2 cos(nm) — 2 0 if n is even
500) =0——=| ———= = = , :
(500) 7'(' ( n? xO) ™2 —5 ifnisodd

Similarly, we see that

(501) aoéé%/:g@ /‘f (/(1+xM

(1+x)? (r+172%-1
502 = — 4.
(502) 2 la=0 2T 2
Putting everything together, we see that
(503) oy D1y (2n + 1))
v 2 - w(2n + 1)? CORAn )
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Problem 6.3.18: Determine the function to which the Fourrier series of

(504) flz)=|z|, —m<z<m

converges pointwise.

Note: The graphs for this problem do not have open circles at individual points at which the function is undefined.
Luckily, the precise definition of f(x) or its periodic extension at these endpoints does not change the final answer

to this question.

Solution: We begin by examining a graph of f(x) and a graph of g(x), the
2m-periodic extension of f(x).

o = o L F

zJ':|x{—:[<x<r[}\

FIGURE 13. Graph of f(x).

+ ‘s o« : F
@J:\X{-l{::-’l} +
@;:\x—ﬂ{la’xca} .
Y o= lk-4{3<x<s}
@3:‘17?{73(1(71} / 1
@ y=|x+4/{-5 < x = -3}
4 3 2 1 0 1

-1

A a

FIGURE 14. Graph of g(x).
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We see that if we define g(nm) = 1 for every odd integer n (since these are
precisely the points at which g(z) is currently undefined), then g(x) is a contin-
uous function whose derivative is piecewise continuous. It follows from Theorem
6.3.3 (stated below) that the Fourrier series of f(x) converges pointwise (ac-
tually, uniformly) to g(x) (after declaring that g(n) = 1 for every odd integer

Theorem 6.3.3 (Page 504): Let f (or g in this problem) be a continuous
function on (—oo, 00) and periodic of period 2L. If f” is piecewise continuous
on [—L, L], then the Fourrier series of f converges uniformly to f on [—L, L]

and hence on any interval. That is, for each € > 0, there exists an integer Ny
(that depends on €) such that

< €,

(505) ‘ fx) =

a0 i {an COS(?) + b, Sin(?)}]

for all N > Ny, and all x € (—o0, 00).

Remark: The astute reader will notice that Theorem 6.3.3 actually gives us
more than what the problem originally asked for since uniform convergence is
better than pointwise convergence.
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Problem 6.3.20: Determine the function to which the Fourrier series of

(506) f@%:(gif_ﬂ<x<a

e f0<z<m

converges pointwise.

Note: The graphs for this problem do not have open circles at individual points at which the function is undefined.
Luckily, the precise definition of f(x) or its periodic extension at these endpoints does not change the final answer

to this question.

Solution: We begin by examining a graph of f(z) and a graph of g(x), the
2m-periodic extension of f(x).

+ ’s 8« i0

g
J':O{—n<;x<[]}

@ :I':.‘fz{[] <x < rr}

FIGURE 15. Graph of {(x).

+ s o « %
Y y=o{=x=x<a} - ;

- 10 ;
3 _]:).’2{0<.‘('~’.7[} .‘I‘I

| | i" #
a y = O{r[< x < 21} f
a/ i :(\'727{}2{27[(1(3.1}
/ 5 {

B y = O{—Sr{< x < —27[} /
c J':(x—?n}g{—h ‘x<—.‘[} .
Q y=o0{-sa<x < —4n} | /
?J y = (x—Jn}ﬂ {_4‘_[ - x < —3:1} 15 -10 [ 5 0 5 10 15
Y oy=o0{3r<x < 4}
O o= (-2 {um < x < 52)

FIGURE 16. Graph of g(x).
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We apply Theorem 6.3.2 (stated below) in order to find the answer.

Theorem 6.3.2 (Page 503): If f and f’ are piecewise continuous on
(— L, L], then for any z € (=L, L),

507 D3 {awcos" T 4 bysinT )} = %[ f@) + fa)].

\ . g
-~

Fourrier series of f(x)

For x = £L, the series converges to 5[ f(—L") + f(L7)].

Noting that L = 7 in this problem, let us first determine the function that
the Fourrier series of f(x) converges pointwise to on [—m,7]. We see that on
(—m,0) U (0,7), f(x) is continuous, so the Fourrier series of f(x) converges
pointwise to f(x) for every x € (—m,0) U (0, 7). Since f(07) = f(0F) = 0,
we see that the Fourrier series of f(x) converges to 0 when x = 0. Since
f(=mT) = 0and f(n~) = 7%, we see that the Fourrier series of f(z) converges
to %7?2 when x = 4+m. Recalling that the Fourrier series of f(x) is 2m-periodic,
we first define g(nm) = %71'2 whenever n is an odd integer and g(nw) = 0
whenever n is an even integer (so that we may give a definition to g(x) in the
places that it is currently undefined), and then we see that the Fourrier series

of f(x) converges to g(x).
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Problem 6.4.17: Find the solution u(x,t) to the heat flow problem

ou O?u
(508) (‘%_60:1:2’ O<ax<L, t>0,
(509) p(0,t) = (L, ) =0, >0
(510) u(z,0) = f(x), 0<z<L,

with 0 = 5, L = m, and the initial value function

(511) f(z) =1—cos(2x).

Solution: We know that a general solution to the heat flow problem is

(512) ch BT sin(—— nmc ch 51t i (nx).

From equation (510), we see that

(513) 1 — cos(2x) = u(z,0) Z Usin(na)

: ’]’L:]_

Mg

¢ sin(ne)

So we have to compute the fourier sine series of 1 — cos(z)'. Before doing so,
we recall the following helpful trigonometric identity.

(514) sin(n +m) + sin(n — m) = 2sin(n) cos(m).

We see that for n > 1, we have

(515) / F(z) sin(na)dz — 2 / (1 — cos(2x)) sin(nz)dx

o 0

1Sometlmes the function f(z) is a sum of sine functions, such as f(z) = 2sin(3z) — wsin(4x). In cases such as these, we are (luckily) already
given the fourrier sine series of f(x)! We see that c3 = 2, ¢4 = —m, and ¢, = 0 for all other n > 1.
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(516) _Z /O " sin(nz)dz — 2 /0 " sin(nz) cos(2x)dz

v v

2 m 9 [T
(517) by (514) = (_cosflnx) xo) _ ;/O 5(sin((n +2)z) +sin((n — 2)x))dw
(518) = 2(—cos(nm) +1) 1 (— cos((n + 2)x) Lz cos((n — 2)x) |~ )
nm T n + 2 n—9 =0
(519) — 2(_(308:;7) +1) % (_ COS((Zi;)W) +1 _COS((Z - z)w) + 1)
(520) = 2(—cos(nm) +1) 1 (—cos(nm) +1 L= cos(nm) + 1

()

— cos(nm) + 1) (2(n +2)(n—2) —n(n—2) —n(n+ 2))

7r n(n+2)(n — 2)

(522) = (

(523) _ (—cos(mr) + 1) ( —4 ) ~ 4cos(nm) — 4

m nd—4n)  L(n3 — 4n)

———2 — ifnisodd

(n3—4n)r

0 if n is even
(524) = 8

It follows that our solution is given by
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525) Jule.t) =3~ _84 o 1))76—5%—1)% sin((2n — 1)z)]
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Problem 6.2.24: Formally solve the vibrating string problem

0%u 0*u
(526) w_@@, 0<ZC<L, t>0,
(527) u(0,t) =u(L,t)=0, t>0,
(528) ule,0) = flz), 0<z <L,
ou
(529) S0 =gla), 0gT<L

with o = 4, L = 7, and the initial value functions

1
(530) fla)=2,— ,

n=1

(531) gle)=> -

n=1

1>N+'l

Solution: We know that a general solution of the vibrating string problem is

(532) Z [a cos( —t + b, sm(?t)] Z a, cos(4nt) + b, sin(4nt)]

n=1 n=1

From equation (528), we see that

=1
(533) > = f(z) = u(z,0)
n=1

(534) Z a, cos(4n - 0) + b, sin(4n - 0)]

n=1
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(535) =Y [0, 1+b, -0 => a, ,
n=1 n=1
S0 a, = ”% for every m > 1. Next, from equation (529), we see that
o 1 n+1 )
(536) (=1) =g(x) = U(L 0)
~ n ot
(537) Qi a1, cos(4nt) + b, sin(4nt)]
a gt n n =0
(538) = f: 9 [, cos(4nt) + b, sin(4nt)]
— Ot t=0
539 = —4na,, sin(4nt) + 4nb,, Ant
(539) nz:;[ na, sin(4nt) + 4nb,, cos(4nt)] -
(540) Z —4na,, sin(4n - 0) + 4nb,, cos(4n - 0)]
n=1
(541) = Z |—4na,, - 0 +4nb,, - 1] = Z 4nb
n=1 n=1

The conclusion of equations (536) — (541) is

o <_1>11+1 o
(542) > =) dnb, ,
) n=1

n=1

which shows us that
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1 n+1 —1 ntl
(=) =4nb, — b, = <JI—>2 forall m > 1.

n an

(543)

It follows that our solution is given by

(544) u(z,t) = Z [i) cos(4nt) + <_4 >Z+ sin(4nt)
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